


FALAYMIT ) 5358 R

BEEODMBEREICOWVT Designation of Port location

OILEIIE Y vy a NV TOMEIR, FIVETERIIREN TS b OPEEE ) £4,
T/, ENO O OMEAERILRE 2 2 FVHAHBICH LT 90° £ 7213 180° A H T 254 1 F I # M & L TV F 9
ONLE DM EDIREIXTHOMNFELEFIZ L2 > TLEE W,
® Standard location of piping ports and cushions are shown in the dimension drawing of each models.Configurations rotated by 90° or 180° from
the standard as keeping the samerelative locations of ports are deemed as the same and as the standard.
® Identify the location of piping ports and cushions by the surface numbers shown in the illustrate at right.

112



BAEE 1 /N — DETHEE

I(1) ¢ 40 ~ 100

FHIATET X NFEITV YNNI RTHELE T,
A0y ReI¥y NI CHY MATTREEL, C ¥ M AT
EVXNSOMIZO U 7 EIHALET,

DO

ZH\:E II"_M_

-
v

I (2) ¢ 125 ~ 250

FHIAZET X NFGEITV YNGR THELE T,
EAMay FEIXNGECHY MATTREEL.C HY M AT
LYUXNTORIIZ OV ZEFALE T,

(s0)a)a)ar)

{ @ 7]
7
H

A

31)32)34) 32
2 B & & HE
30 PANAN P YA 1
31 DA 1
32 CHENAT 2
33 FNaRY 8
34 0yxyg 1

. EXkrOy R
T
Oy KA/N— LA
aE EEE BE aE R BE
30 THINT 1 30 TyINT 1
31 CHZEIXT 2 31 CHBEIXT 2
32 oy 1 32 oury 1
34 THINTINUK 1 34 THINTINOR 1
|(3) ¢ 300 ~ 500 57— FEE DD P T
IVXNGIIITAZET X NTIIFRAXTVTHEHELE T,
ETXNTORIIZ O T EHFALET, Name Material resg‘tegrt'nce

*2

3

x4 7 L > | Ao 7AXIRFTL Max120°C

Neoprene LEIA-FTA4LTLEDD

CONEX ®

A=Y TAB® | psempere) 73 Riis Max.200°C

I Ty IR | HTZRVARIZTIVIEE .
GENTEX ® BELEBD Max600C

E1) 100C%8B2 2 TE[TOFERADBEICIR. F—ROTHEHELET,

E2) I—% v 7 ZX® - CONEX ®idH AKX SH DBEHFEZE T,
E3) GENTEX®WRARE D x> 7 v 7 AL DEHEHETT,

113



114



F1UVAE z7ovo4

Oilless enclosed cylinder

cr6 1 fu
r665

SR - RIEY ) 2 Y DNR P T =,
SFEFLT1-NFIEHEERTHZ T,
Top seller among oilless enclosed type pneumatic cylinders.

With its high reliability and proven performance, this cylinder
meets various applications in different fields.

T #k Svecification

JIS

J

JIS Symbol

Thread tolerance

; BN
X &= Standard t/ype
Model code CP611LU CP665
f£E & A R ' B
Operation type Double acting
2 ) 5 TE (Eiemaa7)
Lubricant none (Oilless)
Fai—-—TARE _ _ —
lBore Sizequ = ¢ 40 ~ 100 ¢ 125 ~ 250 ¢ 300 ~ 500
= B E 5 -
Working pressure 0.2 1.0MPa
+1.0
- (250mmi )
Z hO—-JFRE ° Under250mm
Stroke tolerances a4
14 (250 ~ 1,000mm)
EZX b EE - -
E = 50 ~ 500mm /s 50 ~ 100mm /s
B L 2R E JIS (6H. 6g)

VAN A

mEI 7Ty

Cushion Both ends (Air cushion)
M E B
Proof pressure 1.5MPa
£ B B E — B0°
Ambient temp -5~60C
2 & ¥ 7o 13 (FEHEEAE A 1000km 2 F % 7= I3 {FEHEEREA 100km
SF=/S=ar = ISETBEFOWT AR VB (CETB3EOWT AR VEEER
IE3| HA The overhaul should also be performed The overhaul should also be performed
Overhaul when the cylinder operational distance when the cylinder operational distance
reaches 1000km, even before two years reaches 100km, even before two years

from the date of last inspection. from the date of last inspection.

#) 1. 5CUT T

B2,

PEid, MR OKGEBEE L, BEORVE ) T

2. FREDAMOARET TR 2 B3 A3, Bl SRR 228 v,

3L A2 EIXTE LI MUY B L 7)) — ZAHEH S E S O TR
Fldfas ) 7 e LT o TL2ZE o ARICIF A § 2 £ 12
LY ETHN ZOROIGMERSLEL R T,

Notes

1.The air must be dried the ambient temperature may drop below 5°C to prevent
problems due to freezing.

2.Consult factory for non-standard applications which are not coverd by above
specifications.

3.Can be lubricated but the grease will be exhausted. Although durability is
enhanced after the lubrication, continual lubrication will be required.

115



116

ANE—F1—F 4 IFYUVY

CA —
2 & 8 B -nviemL o raomtme e oz A,

Model code
752 g8 F 1 — TR PIN=R Ov Nke s
HIN— Mounting Style Bore size Stroke Piston rod attachment
C P665 Dust cover
’ QFFEH/N— Dust cover‘ ’ OF1—TAHE Bore size
% L N 40mm 40
Without
50mm 50
7E
Material CP611LU 63mm 63
2 F 7L (R%E) A 80mm 80
H) Neoprene (standard) 100mm 100
With — =
=T B 125mm 125
I TyIA D 140mm 140
Gentex 160mm 160
) B N—EOWY MRS 113 N— P 2 B2 S 0,
Please refer to p.113 for the structure. 180mm 180
200mm 200
220mm 220
_ CPO65 250mm 250
’ D& R Mounting style 300mn 300
X # £ E © U N 350mm 350
o 400mn 400
W 5 @ 7 - ~ ®| g
Foot 450mm 450
0y K@l 73 > 2 ® FA 500mm 500
Rod end flange
Ny KAl Z7 5 2 W
Cap end flange g FB
— 7 v E 2 ®
nggﬁgd Single clevis - CA
tandari 5 >
type — 7L EX®E >R 2hO—% Stroke
Single clevis /joint pin CAA e (4 TR EELY,) (Please order it by a mm unit)
- 7 v E Z =
Double clevis - cB o ?/Iiaicsi:oll:els:l -7 ¢ 40 ~ 63| 600mm
ZWy7LEZRE>HM| cga ' ¢ 80 ~ 160| 800mM
Double clevis /joint pin ¢ 180 ~ 500 1.000mm
N TC ;
Trunnion
— o7 LrvEXEET Y 2o
Single clevis /roﬁed bushing CAD
— W7 LEXWHEHRT v P a
Single clevis /Iutj)rica;n bushing CAB
— U7 LEXFSP T v
Single clevis //SP bushing . CAP
— W 7 L E X % SS400 #
Single clevis /S/teel CAS
ZILEZXEET v
mﬁﬁ_ﬁ? Double clevis /rojlled bushing . CBD
Double clevis /keeper plate /joint pin
ZWIVERRA=1=TV=h €V FYRZy TIf
Double cIevi; /keeper plate /joint pin /grease nipple CBKG
Z b7 L E X SS400 &
Double clevis /S/teel CBS
N 2 = # > # SS400 &
Trunnion /ste/el TCS
NS =4 > ® (2 ZX)
Trunnion /female sc/rew Isteel TFS

) —HEYECE VL OHH ) £3 BUEOWTHIZONTIE 160 N— V2B 72 S0,

Please refer to p

.160 for details.




FALUARRE

(8)

OyoFy b e&E0 BUEONE
Lock-nut T2kt Port position &
Port bushing Cushion position
@Oy FiHeE Piston rod attachment |
B % €« & & LU A
Without No entry
Y 2 v
Rod end clevis
Y % ( E > f ) YA
Rod end clevis /joint pin
/
EXW YR (e > ) BlE > YC
St?;‘ggrd Rod end clevis /joint pin /split pin
I 2 I
Rod end eye
I % (e > ) IA
Rod end eye /joint pin
Rod end clevis /rolled bushing
Yﬁ?‘\'——/f—TI/—I*-l:“/ﬁ' YK
Rod end clevis /keeper plate /joint pin
YRE-1=TL— b TRy TV YKG
Rod end clevis /keeper plate /joint pin /grease nipple
1Y @Y IED T 2 TV YM
Rod end clevis /detent angle
=AM G 7 STACAVEN SN R C )N & Y 2 YKM
Rod end clevis /keeper plate /joint pin /detent angle
BNFE-1N=TV=h €V 7o 52y Th
Rod end clevis /keeper plate /joint pin /detent angle grease nipple YKGM
Y ¥ S S 4 0 0 &
Rod clevis /steel YS
Rod end eye /rolled bushing
ImmI v o aft| g
Rod end eye /lubricant bushing
Rod end eye /SP bushing

) 1.YM, YKM, YKGM O¥;4,

oy FemaRizay 7y STEELE T,

2. —HEVECE RV OPH ) T3, BUEOTTHIZOW T ITAR— PRSI S v,
Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.

JyaD

5 2FFES
BeaDEIE

Pressure vessel construction code

@EEOT v 1B Port bushing
Tyviakl A
Without No entry
Ty aft
With B

) 7y v ald 1B LT Blaid Re3/8 45 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

| @EENLE Port position|
Oy KA/N— Ny KAN—
Rod flange Cap flange
1 (1F%) 5 (1R%)
EREIOAIE 1 (Standard) 5 (Standard)

Code of the position

2 6
3 7
4 8

) BEE7 v Y a OB, F-EICERETE AL
Cannot establish the plumbing and the position of the cushion in the same aspect.

’ QU aniE Cushion position‘
Ay KA/N— Ny RAN—
Rod flange Cap flange
1 5
R OME

Code of the position

2 (1F#%)
2 (Standard)

6 (1Z#%)
6 (Standard)

3 7
4 8
JyalEL
Without 9 9
X¥OOQDREN S THEE(@Q:1-5.0:2-6) L 2 2HEDHR, FLANETT,

1 AT COEREND 513, &TREA

LTL7ES v,

In case of standard position for both ® and © ,the code is not necessary.
) BEL 7y a OB FA—HICERETE A

’ (6 1= Lock-nut
Oy 7+y haEL \|IA
Without No entryt
Oy 7F+y b1 EfR L
1 lock-nut
Ay 77y b2 @ff
2 lock-nut L2

1) 2 OBATY Ty Mk D oEiER S, TEFOREF T,
LB L A Pl AR SHRRC 72
Ty 7y MIBLTIE, 176 =2 % 2

Please refer to p.176 for lock-nut.

Cannot establish the plumbing and the position of the cushion in the same aspect.

| DE2BEHRBDFIE  Pressure vessel construction code

IEFE R fRSCA
Not apply No entry
A
%= o0
Applicable V2

W) 158 2 I ARG A TR i & IS SR ) £
28 2ME ARSI L TR 12 =V % TBREV 5,
Please refer to p.13 for details.

117



118

ANE—F1—F 4 IFYUVY

CP611LU

RN EER

|9":l.—7"l7€|?§ : 40 ~ 100

i

ol

174

1

&5 kS b # g HE
1|~ v F B N — SS400 1
2 | o A $S400 1
3 |y 4dF1—7 STKM13 1
4 | B 2 b > 5% 1
5 ez bt>Ooy K S45C 1
6 |E X F > F vy b $S400 1
8 |V yva>yry $S400 1
2 4 0 v K (A SGD400-D (&) 4
9 (TCEZHEBRDIHE) 4
2 4 0 v K (B SGD400-D O ROTANEE) -
(FA‘FB-CA-CB X#E#HADHA)| 4
07 / ) SWRM (DROTADEA) 8
. . . (FA-FB-CA-CBXiANBE)| 4
I A SWAH (% DRBOTADES) 5
12+ ¥ T 1 % BC 1
13 | @y o7 YFEL K SCM435 4
14 | N 2 ¥ H X SWRH 4
15 | 7 W > S iR 1
16 |7 4 18 — 1y > 5 NBR 1
17 |8y KXy % > NBR 1
18 | YU 4F2-THAry b NBR 2
19 |[EZX h ity % > NBR 2
20 |l @y RHXHF v b NBR 1
22 | 7y a iy ¥ 2 NBR 2
23 |7y var=—FKu $S400 2
24 | = — KL Ix vy ¥ > NBR 2
25| A v 7 F v bk SWRM 2




FALUARRE

CP665
Fa—TARE: ¢p125 ~ 250
3 X 5)X22)(18) 2 (17)X15)(12)16
_ _ _ KA
VN
, 1
14)(13
- HE
il BB Moo= 9125~ 220] 9250
1~ v K & N — $S400 1
' 2 | o S $S400 1
PEEPEEEEE STKM 1
T 4 | E x N > $58% 1
] 5| 2 k>B v K S45C 1
: 1 6| 2 r>F v b $S400 1
X NIEERPEY $S400 1
% 1 8 v KA |@w SGD400-D 4 -
A . S45C — 4
N SGD400-D 4 —
2 4 A v K (B) |(Tcxpwions
S45C — 4
(FA- FBEIHROBE) S 4 -
10| + y [N $45C - 4
23€) (231) (23D) (23F) (238) (23H) (23G) (23A) (23C Gomoustoss VM 8 | =
S45C — 8
N . . (FA - FBXHFRADIHE) 4
e x oy ® SWRH (ZDMDHRDBAE) 8
2+ ¥ T 1 =% $S400 1
13| 4% T 4 %K b SWRM 4
wln x2 ¥ F oz SWRH 4
57 v ¥ 2 T 1
167 48 = 1) > F NBR 1
HEEEEEE NBR 1
18| SUsdFa-THZLY b NBR 2
19| EX M2 Xy ¥ > NBR 2
2|8y KAXHF v b NBR 1
2|7y arinyx2 NBR 2
AR e ZDC2 2
28 = — F v N L T $S400 2
2%C| F £ v 7 N T ZDC2 2
23D /3 % SUS-WP 2
BE|Fxr v TNy XL NBR 2
2l @ v 7 F v bk SWRM 2
2G| sy varHRsy b NBR 2
BH| = — R /x v * > NBR 2
28I A7y —iE> SK5 2

119



- —_ . - o~ A
NE—FTa—-F«4HITT7VUVE
CP665
X M
I79 nB *g ) (=]
.o
| Fa1—TJARZF: ¢300 ~ 500
9YI0 TT1X 17 )22) 6 )20) 4 )21 8) 3 )5 19)18( 2 15(12(17
[ [ @I I ] I D|
A-HL— AL
L ]
— U—l
=) 3=
LI / P
14)(13
= B B
— i S Moo= 300 9350 9400 [ 9450 [ $500
X 1A K BN - SS400 1
2 [m K B N - $S400 1
i SS400 -1 - 1
- 3>y >gFa2—7 SM490A - |1 -
! STPG 1 — —
4|l =z k > 4k E 713 FC 1
5/ 2 > @A v K S45C 1
6|t X b F v b S45C 1
7 |7 ] = P SWRM 1
25Y28)27 26)24)23)(29 87 vva>V>7 STKM 1
2 4 B v K (A)|&mX) SGD400-D 8 12
x| 9 SGD400-D 8 12 | —
m| B) |(T FHERDIGE
a2 41 Y F()(Cfﬁﬁ/i’k%)ss‘loo - i P
(FA-FBX#HHADHE) 8 12
07 / b SWAM Dot nsa) 16 54
e e e - (FA-FBEEFADHA) 8 12
T 3 WRH
! U S (OmOTA0ES) i 54
12|44 ¥ T 1 24 SS400 1
13|# % T 1 2 K b SCM435 4
14|18 2 ¥ A x SWRH 4
157 v ¥ 2 =4 1
17|79 4 1x —y > 5 NBR 1
BHEEEEE NBR 1
19[SV 4F1—THRLy b NBR 2
20[E X b Xy x> NBR 2
21(my K#H X4 v b NBR 1
2(7 v va Ny ke NBR 2
23|79y yarNWTHRry b NBR 2
249 v ¥ 3 > H N — SS400 2
BN AN C3604 2
26|= — K N T Sus 2
27[=— KWk xF v b SS400 2
WA 2 FEE AR RRE% 100 T o 500 DA TREME L2 ) 9, 28 /% Z SUP 2
| 9 | 210y r | s45C | 29l =2 &+ v & NBR 2

120




FALUARRE

XFEEH - ARITEH

CP611LU - CP665

5@ — M

LB

LB-¢40 ~ 250 Max.10(¢40~100)
(18] Max.17(p125~250)
[E NN L(LL+ZrO—%) c A
58400 N 4-M JAF2. EE EE |F1 B A1
15 5, _\n
M TIT = — — TIT
B T
2 _ |4 |8 _ _ 4 =
6 8 S
I
T
| © L& - 1\
. = — —— 7 3 i
Zyya NIV 317 Q
W1 W1 (2m@m)
4-¢JJ uu z L1(L+2W1)AZE+2 z
BIfT :mm
g’f* RS XS AT e
s.—JmRe>| LL | C |¥A |[A1 | B | Q | B1 MM D |DD1 EE E|F1|F2| N M NN[uu[ Z Jw [TT] H [wi |27
¢ 40 97 | 30 |20 | 17 | 21 13 7 [M14x1.5| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 | 40 | 15 | 10 4 40 | 30 | 600
¢ 50 1051 35| 25|22 |22 |17 | 10 [IM18X1.5| 20 | 55 Rc3/8 65 | 19 | 15 | 49 M8 X 1 12 |1 45| 15|10 | 6 | 45| 30 |600
¢ 63 105/ 35| 25|22 (22|17 | 10 [IM18X1.5| 20 | 55 Rc3/8 75|19 | 15| 59 M8 X 1 12 55|15 |12 | 6 | 55| 35 |600
¢ 80 1121 50 | 35| 32 | 28 | 24 | 12 |M26Xx1.5| 30 | 75 Rc1/2 |100| 15 | 15| 76 |[M12x1.5| 16 | 71 15| 15 6 60 | 35 | 800
¢ 100 1121 50 | 35| 32 | 28 | 24 | 12 |[M26X1.5| 30 | 75 Rc1/2 |116| 16 | 16 | 90 ([M12x 15| 16 [ 85| 15| 15| 6 | 75| 35 | 800
p125 |[121] 60| 35[ 32| 36| 30| 12 [M26x15| 35| 80| Rc1/2 [143] 18| 18 [115|M14x 15| 19 [100] 20| 19| 6 | 85| 45 800
¢ 140 135/ 80 | 50 | 47 | 48 | 32 | 18 |[M36Xx1.5| 40 | 85 Rc1/2 [160| 20 | 20 |125|M16Xx1.5| 23 |112| 25 | 24 | 9 |100| 55 | 800
¢ 160 135 80 | 50 | 47 | 48 | 32 | 18 |[M36X1.5| 40 | 85 Rc3/4 [176| 20 | 20 |142|M16X1.5| 23 |118| 25 | 24 | 9 |105| 55 | 800
¢ 180 145 85| 60 | 57 | 50 | 41 | 20 [M45%X1.5| 50 [ 110| Rc3/4 |198| 20 | 20 |155|M20x1.5| 27 [132| 30 | 28 | 13 | 125| 70 1000
¢ 200 145|185 | 60 | 57 | 50 | 41 | 20 |[M45x1.5| 50 |110| Rc3/4 [220| 20 | 20 [180|(M20x1.5| 27 |150| 30 | 28 | 13 |135| 70 {1000
¢ 220 160| 90 | 70 | 67 | 52 | 50 | 22 |[M56Xx1.5| 60 |120| Rc3/4 [242| 23 | 23 [190|M27x1.5| 36 |170| 40 | 35 | 13 |150| 85 {1000
¢ 250 160| 90 | 70 | 67 | 52 | 50 | 22 |M56Xx1.5| 60 |120| Rc3/4 [270| 23 | 23 |[215|M24x1.5| 30 |180| 40 | 35 | 13 |160| 85 {1000
F) Wy sy MEE SIREOHE. KEHA TESERE (BH) k)RR ETOTIEEL S, o (GEAINE 176 ~<— ¥ % SBEEC 758 0,)
85T — NS LB
LB-¢300 ~ 500
[#1E] SS400
Max.22 NN L(LL+ZXrE—%) c A
JIF. EE EE _F|.B, Bl
]( 1
| - -
F o
8 . 1 4 &| %[ Q
_bf AN 0
- B B - MM T
- - - - Q
Lo - 2 =
. 7 3 M (@)
N T
Wi W1
4-pJJ uu z LI(L+2W1)/AZEE2 z
BIfT :mm
gﬁ ARSI X8k e
s.—JmE~Z| LL | C |[*A | B | Q | B1 MM D |DD1 EE E|F|N]|K M NN[uU[ Z [ [T H[wi| 7
¢ 300 172(120| 80 | 60 | 63 | 25 M65 X 2 71 |112 Rct 335| 25 |354| 8 | M20x1.5 | 25 (240| 43 | 33 | 25 [220|105| 1000
¢ 350 1771135| 90 | 70 | 71 | 30 M72 X2 80 (126 Rc1 385| 25 |404| 8 | M24Xx15 | 30 (280| 43 | 36 | 25 [230|105| 1000
¢ 400 [202[150[100] 75 | 77 | 30 | m82x2 | 90 [144] Rcl1 1/4 [435]| 30 [465| 8 | M27x1.5 | 35 [320] 50 | 39 | 32 [295] 1301000
¢ 450 (212(175|110| 90 | 85 | 30 M9OXx2 |[100|155| Rcl 1/4 [485| 30 |520| 12 | M27x1.5 | 35 |380| 55 | 42 | 35 |320| 145| 1000
¢ 500 |217[200(130|105| 95 | 30 | M100%x2 |112[170| Rcl1 1/4 |540| 30 [570| 12 | M30x1.5| 38 [420| 55 | 46 | 38 |360|175| 1000

W) B st Mk SHEOSE.

MENA P RDE (BEE) XVECR) ETOTIEREL S,

(FEINZ 176 R— Y % TSI L 728 0,)

121



122

ANE—F1—F 4 IFYUVY

KT8 -NAEITEH

CP611LU - CP665

Oy FAIT SIS

FA

{6}@ {-5

FA-$40 ~ 250 Max.10(¢40~100)
ax.10(¢p40~
[##&] SS400 Max 17($125~250)
vV
/. CE 4-¢J N L(LL+XkE—2) cC A
ON F2 EE EE Fil B Al

err B1

w3 3 : T : TL 98
B
@ G}/ = = = MM
/ 317 7 3 Q
PP EDZN ) 4-M (2@Em)
BT mm
#% ANEEBT A IHeETE S
e BB LL| C |¥A [A1 | B | Q|BI|] MM | D |pDI| EE | E|F |F2| N M INN| VI IWI[E]J]TIo|R?
¢ 40 97 [ 30 |20 | 17 | 21 | 13 7 [M14x15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 |100| 80 | 55 9 10 | 40 | 600
¢ 50 105 35| 25|22 | 22| 17 | 10 [M18Xx1.5| 20 | 55 Rc3/8 65 | 19 | 15| 49 | M8X1 12 (110 90 | 65| 9 | 10 | 45 |600
¢ 63 105( 35 |25 | 22|22 |17 | 10 (M18X1.5| 20 | 55 Rc3/8 7519 | 15 | 59 | M8X1 12 130|112 75 | 11 | 10 | 55 | 600
¢ 80 112 50 | 35 | 32 | 28 | 24 | 12 [M26X1.5| 30 | 75 Rc1/2 [100| 15 | 15| 76 |[M12X1.5| 16 |150|125|100| 14 | 14 | 71 | 800
¢ 100 |112| 50 | 35| 32 | 28 | 24 | 12 |M26X1.5| 30 | 75 Rc1/2 |[116| 16 | 16 | 90 [M12X1.5| 16 |185|155|116| 14 | 14 | 85 | 800
¢ 125 |121| 60 | 35|32 | 36 | 30 | 12 IM26X1.5| 35 | 80 Rc1/2 |[143| 18 | 18 [115|M14X1.5| 19 |220|185|143| 18 | 14 | 100|800
¢ 140 |135| 80| 50 | 47 | 48 | 32 | 18 |[M36X1.5| 40 | 85 Rc1/2 [160| 20 | 20 [125|M16X%X1.5| 23 |255|212|160| 22 | 20 | 112|800
¢ 160 [135| 80 | 50 | 47 | 48 | 32 | 18 |[M36X 1.5 40 | 85 Rc3/4 |[176| 20 | 20 | 142|M16X1.5| 23 |275|230|176| 22 | 20 | 118|800
¢ 180 |145| 85| 60 | 57 | 50 | 41 | 20 |[M45X1.5| 50 |110| Rc3/4 |198| 20 | 20 | 155|M20Xx 1.5| 27 |320|265| 198| 26 | 25 | 1321000
¢ 200 |145|/85 |60 | 57 | 50 | 41 | 20 (M45%x1.5| 50 [110| Rc3/4 |220| 20 | 20 [180|(M20x1.5| 27 [335|280(220| 26 | 25 | 150 [1000
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 [120| Rc3/4 |242| 23 | 23 [190|(M27 X 1.5| 36 [400|335|242| 33 | 30 | 170 [1000
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 [120| Rc3/4 |270| 23 | 23 |[215|M24Xx1.5| 30 [420|355|270| 33 | 30 | 180 |[1000

) vy 7y My TIREOY A KA TESRPE () LVRR)ITOTIERI LS,

o (R 176 =Y % TBH L 28 Wv,)

Oy FIITSVIR
FA-¢300 ~ 500
[#4#8] SS400

V NN L(LL+Z~EA—7) C A
vV JF_ EE EE _F|.B_ B1
Max.22 [E T AT
; 1|
- - - - Ll L -

) 8 4 _P af o

wf 5| D — - - %| s] o

bﬁ N ]

= - - — MM
H = = = = Q
L -
7 3 (2m@r)
Jyal NIV, 8-¢J
BT D mm
z‘;’} ANET i ZHFEETE L
% 2 — TR S LL | C [*A B Q | B MM D [(DD1 EE E = N K M NN| V | VW ]| J T U [ UU ;,f z

¢ 300 172(120| 80 | 60 | 63 | 25 M65 X2 71 (112 Rc1 335| 25 |354| 8 | M20x1.5 | 25 [435|395| 22 | 27 | 90 | 270| 1000
¢ 350 177135190 | 70 | 71 | 30 M72 %2 80 (126 Rct 385| 25 |404| 8 | M24x1.5 | 30 |510|460| 26 | 30 |110|330| 1000
¢ 400 (202(150|100| 75 | 77 | 30 M82 x 2 90 |144| Rcl 1/4 |435| 30 |465| 8 | M27%x1.5 | 35 |575(515| 30 | 32 | 120|360 | 1000
¢ 450 (212(175|110| 90 | 85 | 30 M90x2 [100|155| Rcl 1/4 |485| 30 |520| 12 | M27x1.5 | 35 |630|565| 33 | 35 | 120|400 | 1000
¢ 500 |217[200|130|105| 95 | 30 | M100%x2 |112[170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 |690|630| 33 | 37 | 150|450 | 1000

) oy 7y MEE TIREOY A, KA TESRPE () LVRR)ITOTITERILES

o (FENG 176 =Y % TBIL 2 E W)




FALUARRE

Ay REIZS VIR FB
FB-¢40 ~ 250 Max.10(¢40~100)
- Max.17(¢125~250)
[##&] SS400 v
Vv
J [E 4-¢J T L(LL+XrE—2) C A
N Fo  EE EE F1 A1

L R

) a
|3 1 1 O
15 9
N = = - MM
3|7 7 3 Q
. . 2@
JyariSIvy 4-M ( )
' BT :mm
- A E ey e
9—1—7"Vq1; S LL | C [*A | A1 B Q | B MM D |DD1 EE E |F1 |F2| N M NN |V |[VW ]| E J T | UU z'\/y

¢ 40 97 | 30|20 (17 |21 | 13 | 7 |[M14x15| 16 | 47 | Rc1/4 | 55| 17 | 14 | 42 | M6X1 10 [100| 80 | 55| 9 | 10 | 40 |600
¢ 50 105/ 35| 25|22 | 22|17 | 10 IM18X15|/ 20 | 55| Rc3/8 | 65| 19 | 15| 49 | M8X1 12 [110/ 90 | 65| 9 | 10 | 45 |600
¢ 63 105| 35 |25 | 22|22 |17 | 10 (M18%x1.5| 20 | 65| Rc3/8 | 75| 19 | 15| 59 | M8X1 12 1130 (112| 75 | 11 | 10 | 55 | 600
¢ 80 1121 50 | 35| 32 | 28 | 24 | 12 [IM26x1.5| 30 | 75| Rc1/2 |[100| 15 | 15| 76 [M12x1.5]| 16 |150|125|100| 14 | 14 | 71 | 800
¢ 100 |112] 50 | 35|32 |28 |24 |12 [M26%x15| 30 | 75| Rc1/2 |116]| 16 | 16 | 90 [M12X1.5| 16 |185|155|116| 14 | 14 | 85 | 800
¢ 125 |121]| 60 | 35| 32| 36 | 30 | 12 |[M26X1.5| 35 | 80 | Rc1/2 |143| 18 | 18 | 115|M14X1.5| 19 |220|185|143| 18 | 14 | 100|800
¢ 140 |135| 80| 50 | 47 | 48 | 32 | 18 [M36x1.5| 40 | 85| Rci1/2 |160| 20 | 20 | 125|M16Xx1.5]| 23 |255|212|160| 22 | 20 | 112|800
¢ 160 |135| 80| 50 | 47 | 48 | 32 | 18 [M36%x1.5| 40 | 85| Rc3/4 |176] 20 | 20 | 142|M16X1.5]| 23 |275|230|176| 22 | 20 | 118|800
¢ 180 |145| 85| 60 | 57 | 50 | 41 | 20 |M45X 1.5/ 50 | 110| Rc3/4 |198| 20 | 20 | 155|M20Xx 1.5| 27 | 320|265|198| 26 | 25 | 132|1000
¢ 200 |145|85 |60 | 57 | 50 | 41 | 20 |[M45x1.5]| 50 |110| Rc3/4 |220| 20 | 20 |180|M20x1.5| 27 |335|280|220| 26 | 25 | 150 |1000
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |242| 23 | 23 |190|M27x1.5| 36 |400|335|242| 33 | 30 | 1701000
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |270| 23 | 23 |215|M24x1.5| 30 [420|355|270| 33 | 30 | 180 |1000

i) vy sy MEE TIREOY A R A STESRPE () LOVRCRDETOTIEE LS v, o (G 176 R— D% TBI 28 0)

Ay RMUITSIIR FB
FB-¢300 ~ 500
[#48] SS400

Vv T L(LL+XrE—%) C A
W IF. EE EE _F|.B_ B1l
Max22 CE NN
15 5 d
s RN == - - -
i & : : :
wl 2 5 _'2_f 4 ) 8 . ) . ) 4 _%| Q]D
> :ﬁa— 8 $ 0
: 'J : Bt 8

DR -
ANy _ ;
317 7 3 (2m)
gyyariSnI] KM 8-¢J

A7 mm
& Atk XFEATE R
?—1—7"Pq1_¥éa% LL| C |[*A | B | Q | Bt MM D |DD1 EE E F | N K M NN | V [VW]|J T ufuu| %7
¢ 300 |172]120| 80 | 60 | 63 | 26 | M65x2 | 71 |112 Rc1 335| 25 |354| 8 | M20Xx1.5 | 25 |435|395| 22 | 27 | 90 |270| 1000

¢ 350 177135/ 90| 70 | 71 | 30 | M72x2 | 80 |126 Rc1 385| 25 |404| 8 | M24Xx1.5 | 30 |510(460| 26 | 30 | 110|330 1000

¢ 400 [202|150[100| 75 | 77 | 30 | M82x2 | 90 [144| Rcl 1/4 |435| 30 [465| 8 | M27x1.5 | 35 |575|515| 30 | 32 | 120|360 | 1000

¢ 450 |212[175[/110| 90 | 85 | 30 | MOOx2 |100|155| Rcl 1/4 |485| 30 |520| 12 | M27x 1.5 | 35 |630|565| 33 | 35 | 120|400 | 1000

¢ 500 |217[200|130[105| 95 | 30 | M100Xx2 [112|170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 |690|630| 33 | 37 | 150|450 | 1000

) "y sy MEe CHREOS G, KA A TEFRTE BE) LORA)ETOTIERCZZE v, o (RN 176 R — T % T 728 0)

123



124

NE—Fa1—-F 4 I7

~

P

U4

KT8 -NAEITEH

CP611LU - CP665

—lILERR
CA-$40 ~ 250

[#78] FCD450  max.10(¢40~100)

/" Max.17(¢125~250)
) LE

CA

R L(LL+XRO—%) c_ A
[N 4M K. 2 EE EE Fi| B Al
D183 T [/ N NN Bt
1,5 #DDH10 5 1
_@ J L ,@_ A T
| ] Ll .
2 | 4 _ | 18 _ _ . 4 L D] 8
6 —|— 8 N B S
) W T © RR1 MM
. . 3'7 7 3 Q
=A% . ; ;
Zyzaz NI $40~10002 1 ORIECAS BRUASMEEAVET. @M
BAGT
Z AT AR XEEETE B
sa-gmps| LL | ¢ [*A [a1] B [ @ [B1 MM D [DD1| EE F1r2| N M NN[DD[DI [ R T [RRI] K |27
¢ 40 97 |30 |20 | 17 | 21 13 7 |[M14x15| 16 | 47 Rc1/4 55 | 17 | 14 | 42 M6 X 1 10 |10 [ 15| 35 | 12 | 11 15 | 600
¢ 50 105/ 35|25 |22 | 22 | 17 | 10 (M18%x1.5| 20 | 55 Rc3/8 65| 19 | 15| 49 M8 X 1 12112 (18| 35| 12 | 13 | 18 |600
¢ 63 105 35|25 |22 |22 |17 | 10 IM18X1.5| 20 | 55 Rc3/8 75119 | 15| 59 M8 X1 12 |16 | 25 | 45 | 15 |17.5] 24 | 600
¢ 80 112 50 | 35|32 |28 |24 | 12 |M26X1.5| 30 | 75 Rc1/2 |100| 15| 15| 76 (M12x1.5| 16 | 20 [31.5| 55 | 18 | 22 | 30 | 800
$ 100 |112]| 50 | 35 | 32 | 28 | 24 | 12 |M26x1.5| 30 | 75 | Rc1/2 |116]| 16 | 16 | 90 |M12x1.5| 16 | 25 |35.5| 60 | 20 |27.5| 33 | 800
» 125 121 60 | 35|32 | 36 | 30 | 12 |M26%x1.5| 35 | 80 Rc1/2 |143| 18 | 18 |115|M14Xx1.5]| 19 | 25 [35.5| 65 | 20 |27.5| 37 | 800
¢ 140 135 80 | 50 | 47 | 48 | 32 | 18 |M36X%x1.5| 40 | 85 Rc1/2 |160| 20 | 20 |125|M16Xx1.5| 23 |31.5| 40 | 80 | 25 | 35 | 40 | 800
¢ 160 135 80 | 50 | 47 | 48 | 32 | 18 |M36X%x1.5| 40 | 85 Rc3/4 |176| 20 | 20 |142|M16Xx1.5]| 23 |31.5| 40 | 80 | 25 | 35 | 45 | 800
¢ 180 145 85| 60| 57 | 50 | 41 | 20 (M45Xx1.5| 50 |110| Rc3/4 [198| 20 | 20 [155|M20%x1.5| 27 | 40 | 50 | 100| 31 | 44 | 50 (1000
¢ 200 145|185 | 60 | 57 | 50 | 41 | 20 [M45%Xx1.5| 50 [110| Rc3/4 |220| 20 | 20 {180 (M20x1.5| 27 | 40 | 50 |100| 31 | 44 | 50 {1000
¢ 220 160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 [120| Rc3/4 |242| 23 | 23 |190|(M27%x1.5| 36 | 50 | 63 |125| 41 | 55 | 65 [1000
¢ 250 160 90 | 70 | 67 | 52 | 50 | 22 [M56Xx1.5| 60 [120| Rc3/4 |270| 23 | 23 |215(M24%x1.5| 30 | 50 | 63 |125| 41 | 55 | 65 [1000
W) Ty 2Ty MEESEEOR A, KA EDERE () X DR RD TTOTIRE S, GRAINE 176 < — % TBIE 755 0,)
— o LVE R CA
CA-¢300 ~ 500
[#4&] FCD450
Max.22 [E R LILL+ZkO—2) cC A
X TIF,  EE EE _F[.B_ Bi_
: NN
< #DDH10 515— i
=
D)o SE
C 4 8 4 Ia) a
C 3 ’ ’ ’ ’ ’ ’ &| ® EL
| = AN '
© .
g\ MM
’ RR1
. L — — Q
7 7 3 (2mm)
T35 NIV
BAGT
= AR A ZHEETE 2o
sagmRB| LL | C [*A [ B | Q [ B1 MM D [DD1 EE E[F[NTK M NN|[DD[D1 | R [ T [RRI[] X | &7
¢ 300 172(120| 80 | 60 | 63 | 25 M65 X 2 71 |112 Rc1 335| 25 [354| 8 M20x15 |25 |56 | 71 |111| 30 | 63 |175| 1000
¢ 350 1771135 90 | 70 | 71 | 30 M72 X2 80 | 126 Rct 385| 25 (404 | 8 M24x15 | 30 | 63 | 80 |121| 32 | 71 |185| 1000
@ 400 202|150(100| 75 | 77 | 30 M82 x 2 90 |144| Rcl 1/4 |435| 30 |465| 8 M27x15 | 35| 71 | 90 |135| 37 | 80 |220| 1000
¢ 450 212|175(110| 90 | 85 | 30 MO0Xx2 |100|155| Rcl 1/4 |485| 30 |520| 12 | M27x1.5 | 35 | 80 |100|150| 38 | 90 |230| 1000
¢ 500 217(200|130[105| 95 | 30 | M100x2 |112[170| Rcl 1/4 |540| 30 |570| 12 | M30x1.5 | 38 | 90 |110|174| 50 | 100|260 | 1000

) vy 7y MyE ZREOWE.

KEDA STEOERDPE (BHE) LVRER) ITOTIERL LS,

(FEAIIZ 176 ~— 2 % TBIE L 2 E50,)




FALUARRE

WL ERR
CB-¢40 ~ 250

(##8] FCD450

Max.10(¢40~100)

Max.17(¢125~250)

CB

[E
WY R LILL+ZRE—%) cC A
Y33 4-M K JF EE EE F1 B A1l
D133 / TAT(/ N NN Bt
1,5 #DDH10 5, (1
) o R T
'\/’ @ /‘: ° °
| 4 ) _|8 } _ _ 4 D[ a
i L 8 H el
| B ]
‘/\
\&Y) RR1 MM
3'7 7 3 Q
$40~100DZ10OYRIECBE ERUAAEEELET, (2mrh)
AL mm
#5 ANAERT A XHeETE =
e ome B LL]|C|[*A A1 B | Q|BI|] MM | D |pD1| EE E[F[F2| N M |NN|DD|DI|R | T |RRI| Y| K |17
¢ 40 97 |30 |20 |17 |21 |13 | 7 [M14X15]| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 (10| 15|35 |12 |11 | 30 | 15 [600
¢ 50 105|135 (25|22 |22 |17 | 10 [M18%x1.5| 20 | 55 Rc3/8 | 65|19 | 15|49 | M8X1 12 (12|18 | 35| 12 | 13 |35.5| 18 600
¢ 63 105|135 (25|22 |22 |17 |10 |[M18%X1.5| 20 | 55 Rc3/8 | 75 (19 [ 15|59 | M8X1 12 |16 | 25| 45 | 15 |17.5| 50 | 24 |600
¢ 80 112(50 | 35|32 |28 |24 |12 |M26X15|30 | 75| Rc1/2 |[100| 15 | 15| 76 [M12Xx1.5| 16 | 20 [31.5/ 55 | 18 | 22 | 63 | 30 | 800
¢ 100 [112|50 |35 |32 |28 |24 |12 |M26Xx1.5|30 | 75 Rc1/2 |116| 16 | 16 | 90 |(M12X1.5| 16 | 25 |35.5| 60 | 20 |27.5| 71 | 33 |800
¢ 125 |121]60 | 35|32 |36 (30|12 [M26X1.5| 35 | 80 Rc1/2 |[143] 18 | 18 |115|M14X1.5| 19 | 25 |35.5| 65 | 20 |27.5| 71 | 37 |800
¢ 140 |[135|80 |50 | 47 |48 | 32 | 18 |M36X1.5| 40 | 85 Rc1/2 |160| 20 | 20 [125|M16X1.5| 23 |31.5| 40 | 80 | 25 | 35 | 80 | 40 [800
¢ 160 |[135|80 |50 | 47 |48 | 32 | 18 |M36X%X1.5| 40 | 85 Rc3/4 |176| 20 | 20 [142|M16Xx1.5| 23 |31.5| 40 | 80 | 25 | 35 | 80 | 45 [800
¢ 180 |145(85 |60 |57 |50 |41 | 20 ([M45%X1.5|50 [110| Rc3/4 |[198| 20 | 20 |{155|M20x1.5| 27 | 40 | 50 [100| 31 | 44 |100| 50 |1000
¢ 200 (14585 |60 |57 |50 | 41 | 20 |[M45%x1.5| 50 [110| Rc3/4 |[220| 20 | 20 [180|M20x1.5( 27 | 40 | 50 [100| 31 | 44 |100| 50 {1000
¢ 220 |160|90 | 70 | 67 | 52 | 50 | 22 |[M56X1.5| 60 [120| Rc3/4 |[242| 23 | 23 [190|M27Xx1.5| 36 | 50 | 63 [125| 41 | 55 |125| 65 {1000
¢ 250 |160|90 | 70 | 67 | 52 | 50 | 22 |[M56%X1.5| 60 [120| Rc3/4 |270| 23 | 23 |215|M24Xx1.5| 30 | 50 | 63 [125| 41 | 55 |125| 65 [1000

) oy sty MEE TIREOHE.

KENA S () XD REL) TTOTITEE LS,

GEANE 176 <=V % ZBIE L 72 80,)

125



126

NE—Fa1—-F 4 I7

~

P

U4

KT8 -NAEITEH

CP611LU - CP665

rS=F R
TC-940 ~ 250
[#E] FCD450

Max.10(¢40~100)

Max.17(¢125~250)

TC

L1 P2 L1 NN LILL+ZRE—%) C A
A OE S R B A1
N ,izr EE EE ”F_h_ Bl
—‘ 5[ _\1
LR L
o @ T @ —{—
<o | —
e | R
< &l 6 8 1= S
N B
/ @ sy © — - — MM
/ [ 7 3 Q
79332 INIVT) A-M G (2mEm)
BT mm
s Gl P ZREEATE Tt [t
RSB LL] C [*A [A1] B | Q |B1 MM D |bp1| EE E|F1|F2|N M NN[ G [P [r2fLt ] x [xx] r |[R7|s&lrx
940 |97|30]20[17]21[13] 7 [M1ax15[16|47| Ret/a [55]17 |14 |42] mex1 [10|22]58]65| 18] 16|26 |1.5[600[ 49 | 47
50 |105/35] 25 22] 2217 10[m18x15[20(|55| Recass [ 65| 19| 15|49 mex1 [12|28| 70|80 18] 16|26 |1.5[600] 58 | 51
63 |105] 35|25 |22 2217 10|[m18x15[ 20|55 Reas/a | 75| 19| 15| 59| mex1 |12 2884|100/ 22]20]30] 2 [600| 58 | 51
80 |112[50]35[32]28]24]12[mM26x15[3075| Re1/2 [100] 15| 15| 76 [M12x1.5] 16 | 32 [104[112] 28 | 25 | 35 [ 2.5 800 60 | 53
$ 100 |112| 50| 35| 32| 28| 24| 12 [M26x1.5] 30 | 75| Rei/2 [116] 16 | 16 | 90 [M12x1.5] 16 | 37 | 124]136|335/31.5] 44 | 2.5 |800] 69 | 62
¢ 125 |121]|60| 35|32 |36 | 30|12 |M26x1.5| 35| 80| Rc1/2 |143| 18 | 18 [115|M14x1.5] 19 | 40 |160|170|335/31.5] 50 | 2.5 |800| 72 | 65
® 140 [135|80 50|47 |48 32|18 |m36x1.5] 40|85 Re1/2 [160] 20 | 20 [125|m16%1.5] 23 | 45 [180[180(37.5[35.5] 60 | 2.5 [800] 80 | 73
¢ 160 |135| 80 | 50 | 47 | 48 | 32| 18 [M36x1.5| 40 | 85 | Rc3/4 |176| 20 | 20 [142|M16x 1.5| 23 | 45 |200|200|37.5/35.5] 60 | 2.5 |800] 80 | 73
¢ 180 |145| 85|60 |57 | 50 | 41 | 20 [M45x1.5] 50 [110| Rc3/4 |198| 20 | 20 [155|M20% 1.5] 27 | 50 |220]224] 50 | 45 | 60 | 3 |1000| 86 | 75
® 200 |145| 85|60 |57 |50 |41 |20 |Masx15]50 [110] Rea/a |220] 20 | 20 [180|M20x1.5] 27 | 50 [240]250| 50 [ 45 |60 | 3 [1000] 86 | 75
$ 220 |160|90| 70|67 | 52|50 |22 |M56x1.5| 60 [120| Re3/4 |242] 23 | 23 [190|M27x 15| 36 | 70 |270|290] 60 | 56 | 80 | 3 |1000[105] 90
® 250 |160]| 90|70 | 67 | 52 | 50 | 22 |[M56x 1.5| 60 [120| Rc3/4 |270| 23 | 23 |215|M24x1.5]| 30 | 70 |300[315| 60 | 56 | 80 | 3 |1000[105| 90
W) LTy s dy MEESIEOR G, KA JENEE () LDECRD FTOTIEE LS, G 176 <— % TBHEC 755 0,)
2.5, RHED TIORA R VE A S=R &) T3
—_—
NSZ=F TC
TC-¢300 ~ 500
[##&] FCD450
NN L(LL+ZrO—%) C A
L1 P2 L1 s R
Mex.22 LE JF_ EE EE _F|B_ Bi
| T | |
5 a o]
Cl R4 s
¢ - \
P | NS 1Y
x| @ -
ol 23] _ 2 a 4| ) 18 . /4h\ . 1 4 alo
SRS 6 8 \ E < ﬁ
0 Nl A\ A
’ . MM
y. 3|7 d Q
7 Ll 3 (2mmh)
Jyia NIV KM o
BT mm
Eg% AEETE XHESEE go[ETlET
- LL| C [*A [ B [ Q [B1| MM D |pp1| EE E|F|N[K M NN G P P2l [ x [xx |27 |sm|rz
$300 |172|120|80 [ 60|63 25| Mes5x2 |71 [112] Ret  |335] 25 |354] 8 | M20x1.5 | 25 | 75 [380420] 70 | 63 |120]1000] 90 | 95
® 350 |177]135]| 90 | 70 | 71 | 30 | M72x2 | 80 [126] Rct |385| 25 |404| 8 | M24x1.5 | 30 | 85 |430[490| 75 | 71 |140[1000] 95 |100
® 400 |202]150[100] 75 | 77 | 30 | m82x2 | 90 [144] Re1 1/4 [435] 30 [465] 8 | M27x1.5 | 35 | 90 [490|540] 90 | 80 [160[1000[107]112
® 450 |212[175/110] 90 | 85 | 30 | Moox2 [100[155] Rel1 1/4 |485] 30 [520] 12 [ M27x 1.5 | 35 [100[530(610] 95 | 90 [180][1000[112[117
® 500 |217]200]130[105] 95 | 30 | M100%x2 |112[170] Rl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 [110]610|680|105]100|200[1000[ 117|122

) Lavy sty MEe THEEOYE,
2.S. RO THRRD v

BEIES=R &40 9,

KENA PRl (BE) LR ) FTOTITR 22w,

R 176 — T % BB 728 0,)




FALUARRE

PhEAN— - BT AR

Dimension with dust cover

CP611LU - CP665

I Fa—TJAE: 40 ~ 250

JC A

|
|
|
|
|
|
|
o JFA

@ FA TEOBE AU R EA JFA FHEICLTF & v,

O~TER

| Fa—TJAE : $300 ~ 500

MM

BAGT
Fo-JW@E XrO—2 | JC | JB | JA MM A | JFA
0~160 | 110
¢ 40 1612250 L1950} 4o | — | m1ax15 | 20 | 60
251 ~400 | 210
401 ~600 | 300
0~160 | 110
? o ;21 :iig ;’8 45 | — | misx15 | 25 | 63
401 ~600 | 300
0~ 160 95
161 ~250 | 120
(;”18& 251 ~400 | 165 | 60 | — | M26x15 | 35 | 80
401 ~630 | 235
631 ~800 | 285
0~160 | 105
161 ~250 | 130
$125 | 251~400 | 175|100 | — | M26x15 | 35 | 130
401 ~630 | 245
631 ~800 | 295
0~160 | 125
161 ~250 | 150
i}gg 251 ~400 | 195 | 105 | — | M36x15 | 50 | 140
401 ~630 | 265
631 ~800 | 315
0~250 | 150
180 251 ~ 400 195
izoo o —eso T2ee] 135 | — | M4sx15 | 60 | 170
631 ~ 1000 | 375
0~250 | 140
P e 421?)1 :ggg ;;3 145 | — | M56x15 | 70 | 180
631 ~ 1000 | 311
0~250 | 181
251 ~400 | 211
300 [ o180 | 210 | Me5x2 | 80 | —
631 ~ 1000 | 351
0~250 | 186
251 ~400 | 216
350 [ oo 190|220 | m72x2 | 0 | -
631 ~ 1000 | 356
0~250 | 205
251 ~400 | 245
9400 [— 220|250 | mB2x2 | 100 | -
631 ~ 1000 | 385
0~250 | 204
6450 |22 ~400 1234 | 001 060 | moox2 | 110 —
401 ~630 | 294
631 ~ 1000 | 374
0~250 | 220
6500 |22 ~400 1260 | 00| e | mroox2 | 130 | —
401 ~630 | 310
631 ~ 1000 | 400

127



ANE=F1—-F 4 IFYUVY

R . CP611LU - CP665
Oy FEREEE - TEX

Ay REHEE - Oy 77y MIOBEDIFTES K UERE > ICDVWTIE 172 ~186 X—T 2 TS Z8 0,

B h =X

UL EHIIOWTE IR A2 AT [HATER (CatNo.2224) |% TSR 2L,

128



FALUARRE

BHENYyFUIRB

Consumption packing list

| F1—JMiE : 940 ~ 100

CP611LU - CP665

BRES Ny xEH O (LEEYE ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |74/ —1Y>J] 1 SFR — 16K SFR — 20K SFR — 30K
17 |8 v K/t y %> 1 PNY — 16 PNY — 20 PNY — 30
18 | YUL4Fa-THrsyb| 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 |[EX RNy x| 2 PGY — 40 PGY — 50 PGY — 63 PGY — 80 PGY — 100
22 | vyvarisyxr| 2 M — 2176 M — 2484 M — 2485
24 |Tg KMV R] 2 02301 — 0030

|‘}iéi FNNyvFtEty NFERES ‘P-CP61LU—4O P-CP61LU-50 |P-CP61LU-63 |P-CP61LU-80|P-CP61LU-100

| F2—JmR : 9125 ~ 250

@i E ST 20Ty RE A7y b lIF&InTnEdA.

op
Lk

BRES AR 225 "8 ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 220 ¢ 250
16 |74/ -1 >%| 1 |[SFR—35K SFR — 40K SFR — 50K SFR — 60K

177 |8y K8y % >| 1 |PNY—235 PNY — 40 PNY — 50 PNY — 60

18 | YUY4F21-7H2459r| 2 [M—1111 [M—1112(M— 1113 |M— 1114 | M — 1115 | M — 1911 |M — 1117
19 |EXh>/ty %> | 2 |[PGY—125|PGY—140 | PGY—160 | PGY—180 | PGY—200 | PGY—220 | PGY—250
22 |vyvariNyxr| 2 |M—1074 M — 1075 M — 1076 M — 1077

23E |F v xL| 2 M — 3344

23G | 7yvarHRyyN| 2 02301 — 0189

23H | = — KWLiXy ¥ | 2 02301 — 0030

(g~ x> vy FFRES

P-CP66-125|P-CP66-140 | P-CP66-160|P-CP66-180 | P-CP66-200 | P-CP66-220 | P-CP66-250

| #21—7ME : 300 ~ 500

@i HTE T 20[ 0y FAAr vy FidEEnTwEtdA,

BRES Ny X (LEEYE ¢ 300 ¢ 350 ¢ 400 ¢ 450 ¢ 500
17 |74 nx=—u>u] 1 LBH — 71 LBH — 80 LBH — 90 LBH — 100 LBH — 112
18 |y Fixy %>| 1 SKY — 71 SKY — 80 SKY — 90 SKY — 100 | SKY —112
19 | YUY4F2-THRry b | 2 M — 1877 M — 1878 M — 1879 M — 1880 M — 1881
20 |[EX Rty x| 2 M — 1092 M — 1093 M — 1094 M — 1095 M — 1096
2 |Zyvariyxr| 2 M— 1167 M— 1168 M— 1169 M— 1170 M — 1882
23 |7p7ap Az bl 2 02301 — 0070
29 |[#HR&vyrOULY)| 2 02301 — 0210

|‘}iéi FNy Xty PFEE 7':7—" P-CP66-300 | P-CP66-350 | P-CP66-400 | P-CP66-450 | P-CP66-500

@il E 21Ty RF 27y b id&EInTwIEdA.

129



ANE—Fa1—F 4 IF7IUVS T4 UAH

= CP611LU - CP665

HoE=E I

=QVVUIIKRF+OBEFTVYIY
E E § B : kg
OPDPEE S QEAF T3>
Fa1—TAE THEHE£E EReE
W (kg)

LB FA - FB CA CB TC Y I

¢ 40 0.0049 XX bA—=74+1.9 0.22 0.27 0.34 0.34 0.30 0.12 0.13
¢ 50 0.0077 XX bA—7+ 3.0 0.33 0.34 0.47 0.46 0.49 0.19 0.22
¢ 63 0.0086 XX hEA—74+ 4.0 0.48 0.46 0.90 0.84 0.65 0.37 0.37
¢ 80 0.0157 XX bA—-7+ 7.4 0.59 0.97 1.71 1.72 1.10 0.69 0.71

¢ 100 | 0.0174 XX +bOA—7+104| 0.90 1.40 255 255 1.89 1.26 1.17

$ 125 |00260 XZ hO—2+175| 1.3 25 3.3 3.4 2.8 126 | 1.17
® 140 | 00332 XZ hO—2+250| 25 4.1 5.3 5.4 35
¢ 160 | 0.0357 XX hA—%+300| 28 5.4 5.9 6.1 4.3 25 30
® 180 |0.0494 XZ hO—%+420| 55 9.3 9.7 10.2 5.6

4.9 5.3

¢ 200 | 0.0573 xXZX+A—-7+51.0 6.3 11.3 11.0 10.9 6.8

¢ 220 | 0.0721 XX bH—7+69.0 9.4 18.0 19.6 18.9 14.0

9.7 10.6
¢ 250 0.0906 X X hO—7+ 85.5 10.1 22.0 22.8 22.2 13.6
¢ 300 01192 XX bO—7+ 135 20.5 23.1 14.8 23.1 11.7 15.2
¢ 350 0.1449 x X hA—7+ 185 24.7 35.3 18.4 39.6 171 22.2
¢ 400 0.2048 X X hO—7+ 273 55.8 47.6 27.7 - 46.3 22.3 28.9
¢ 450 0.2478 X X kO—7 + 350 73.4 64.4 35.5 49.8 28.9 37.5
¢ 500 0.2905 X X hO—27+ 457 | 111.4 84.0 53.3 91.0 43.3 56.2
) LB&RIZ 2L ) ORHEZRLET,
VUVIRFBEEIST (825N
| #40 ~p100 | #125 ~p250 | #300 ~p500
30 180 = 80
28 170 -
: ‘ T
24 QU 700
22 o ]38 Gﬁg | 600 A == =
% 2 SA n = %120 ] /‘T l20 AT %500 o 20—
16 5 > o0 N 6% | EBEC A = L \4)\ | =T
g 12 7 Q‘Q’o/ g 0 =T 1 'ig?/ i = %400 = & /ﬁﬁoo ]
w ol A P W 80F e w = A o
ke A ke D AT RS I ke300 = 5380 =TT
8 A o 963 /://// 50 : =] — ‘dﬂ@’::/ =T 200 LT | ‘43‘30‘0 1]
; T O T o =TT |
] Qf)ﬁ/,//// 30 =———" T ““?5’ =
N Yy =TT 2 100
2 i 10
0 100 200 300 400 500 600 700 800 O 100 200 300 400 500 600 700 800 900 1000 O 100 200 300 400 500 600 700 800 900 1000
ZbO—7S (mm) ZhA—=7S (mm) Z+hA—=7S (mm)

130



Wil 1
FA VAR 72904

Oilless enclosed cylinders
with solenoid valve

w009

RG> ) > 5« CP663 BIC 5 7 — | Bl

VR ZA M
HELHEDMIEE P ZESHBEADHIMICE LI 5D
A UEXE

CP665 oilless enclosed cylinder with directly mounted 5-port
solenoid valve.

This design enables easier piping and reduction in air
consumption, thus lowering costs.

JIS

oy
djo

JIS Symbol

YUY ST

ﬁ Specification(Cylinder)

RS

AT - BRI
Oilless enclosed cylinders
with solenoid valve

CEl A

Specification(Solenoid valve)

X &=

Model code

4A3 []

Model code

MP665

A R h B

Internal leakage

JISB 8375 (IC L AMEMUUT

£ @ A K

Operation type

'8 W

Double acting

HEBELEDE

Allowable voltage fluctuation

EREBEICKH L+ 10%

+ 10% of applicable voltage

B E £ & & 70CAT
Temperature rise Max. 70°C
if & & il JIS C 4003 B #&
Insulation class Class B
Ho# B S| AC---6VA  DC---55W

Power consumption

fEg) (%) B

Response time

¢ 125~ 250 --- 0.05 LT
=0.05s

Thread tolerance

- , S TE (EiaEs1 7)
Lubricant none (Oilless)
5 - 7 A #& ~
+ Bore size ¢ 125 250
= B E 7 ~
Working pressure 0.2 ~0.7MPa
+1.0
3 (250mmEL )
A b0 -7 FRE 0
Stroke tolerances 142 Hnder250m
o (250 ~ 1,000mm)
¢ 125~ 140 50 ~ 500mm /s
¢ 160 50 ~ 400mm /s
EZ N YEE ¢ 180 50 ~ 320mm /s
Piston speed ¢ 200 50 ~ 260mm /s
¢ 220 50 ~ 220mm /s
¢ 250 50 ~ 170mm /s
b U B = JIS (6H. 6g)

Ambient temp

7 v . 3> WET7 7 7> = >
Cushion Both ends (Air cushion)
£ 7
Proof pressure 1.5MPa
=
® B B & —

) 1.5CUTCTHAOE AR, ATmOKGERE L, HHEORVE ) TEEL 2SN,
2. FREDAMOARRT TR 2 2 55613, Bl TR 728 v,
3T A2 LIFTEETA, AT 5 & 70 — AR S E O TR A
D) FE LT o T2 MMTIHAMASE T Z L1220 925, 20k
DR LEE 2 ) 5
Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent
problems due to freezing.
2.Consult factory for non-standard applications which are not coverd by above
specifications.
3.Can be lubricated but the grease will be exhausted. Although durability is enhanced
after the lubrication, continual lubrication will be required.

131



132

ANE—F1—F 4 IFYUVY

2 I0 50 B (72— 7R 125 ~ 250) cisricls L T FROBRTE T IRE AR,

Model code

MP665-[1] -

PAPE LS

X

FREEH/N—  o%fFeE Fa1—TREF Z hO—% Oy NEmels
Dust cover Mounting Style Bore size Stroke Piston rod attachment
’ QEEH/N— Dust cover‘ ’ OQF1—TAHE Bore size
& L N 125mm 125
Without
S 5 140mm 140
XA TL L (1EH) A
Neoprene (standard) 160mm 160
HE e S B 180mm 180
Material Co
e Sp— 200mn 200
JIrTvIR D
Gentex 220mm 220
) BEEA N —ERORY I HEREIL 113 _— Y 2 B 7280, 250mm 250
Please refer to p.113 for the structure.
=] Mounting style AhO—7 Stroke
’ AZHEE 9 sty ‘ 4 (Y1 TR & W,) (Please order it by a mm unit)
X B 2 8 & L N
Without =
emRAAMO—Y o mm
w5 B=mm 7 - ~ LB Max.strokes ¢125 160 800
Foot ¢ 180 ~ 250 1,000mm
oy Kl 723 > o FA
Rod end flange eZ/ZhO—% 20mm
Ny K@l 7 2 > YW FB Min.strokes
Cap end flange
- g Z 5 -~ L) .
YN H 7Singlé/ clevis[,: i CA ’ OOy rEHESE Piston rod attachment‘
Standard 5 7 E o =
el [-W I LEZXWE /| can &% £ B & L WA
Single clevis /joint pin Without No entry
- k7 r E 2 ® Y it/
Double clevis CB Rod end clevis Y
W7 LEXIWE > Yy % (g > f )
Double clevis /joint pin CBA Rod end clevis /joint pin YA
N AW [vy®m (e~ f) BlE>f
Trunnion TC St?&‘ggrd Rod end clevis /joint pin /split pin YC
—W7LEXWMET v Y2 1 i
Single clevis /rolled bushing CAD Rod end eye I
—W7LEXWiHEET v ¥ a I ® ( B > £ )
Single clevis /lubricant bushing CAB Rod end eye /joint pin IA
Single clevis /SP bushing Rod end clevis /rolled bushing
Single clevis /Steel Rod end clevis /keeper plate /joint pin
, | S ILEXWET v Yo YRF-IN=TL=k-EX-T)RZy TIf}
’lt‘ﬁﬁ i Double clevis /rolled bushing CBD Rod end clevis /keeper plate /joint pin /grease nipple YKG
Ayp;l'gd ZIWIVERB X -1N=TL -k ELAft CBK BIYEYIED 7 > 5 LAt YM
Double clevis /keeper plate /joint pin Rod end clevis /detent angle
ZWIVERRE=1=TV= bV FURZy T BHE-1=TU= b€V BYEDT T If
Double clevis /keeper plate /joint pin /grease nipple CBKG Ilf\ﬁﬁ i Rod end clevis /keeper plate /joint pin /detent angle YKM
— I 7 L E X ¥ SS400 & Appted TR WHE-1—Tu-b-Co 72 JUAZy T
Double clevis /Steel CBS v Rod end clevis /keeper plate /joint pin /detent angle /grease nipple YKGM
N 2 = # >  SS400 &! Y % S S 4 0 0 #
Trunnion /steel TCS Rod clevis /steel YS
Trunnion /female screw /steel Rod end eye /rolled bushing
) —HEECE 2L OBD ) FF o BEOTEIZONTIZ 160 X— VA B 28, I % % m 7 v ¥ 2 ft IB
Please refer to p.160 for details. Rod end eye /lubricant bushing
I ﬁ? SP 7 Y N ElR ﬁ' 1P

Rod end eye /SP bushing

##) 1.YM, YKM, YKGM O¥jé,
2. —HEETE Vb ODH ) T3 EHEOUEFIZD

Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.

0y FEiaRizay 25y PTEELE T,
WA R— VRS EE N,




BT - A1 LR

5 2T8ES !#Eiﬁ !#}ﬁﬁé !’ﬁ*ﬁ

BRI

Oy 77y bk [i5={0) Jyyar TR
Lock-nut (i OfrE ReDiE B 2 OOE Ak BE
Port position  Cushion Pressure vessel installation Solenoid Electrical ~ Rated
position construction code position of valve connection voltage
valve type
®ovyFvh Lock-nut | | D ARRAHEE installation position of valve
Oy y+v h&L | ANy RAN— H
Without No entry Cap flange
Hy 7%y b1 {Ef L Oy KA/x—18 R
1 lock-nut Rod flange
2 lock-nut
#) 2 OBETL Oy MR Y oBER S E, Lo EFE LT,
EEPLERRE A ik x SRR S0,
Ty 7 Fy MIBLTIE, 176 X— Y % TSRV 3,
Please refer to p.176 for lock-nut.
’ @ EEDAE Port position‘ ’ (1 { itz {D) | Solenoid valve
Oy KA/IN— ANy RAHIN— soL ‘
Rod flange Cap flange ) & — EEIK‘I s
1 (1R%) 5 (1R%) A [ P |
EREOAE 1 (Standard) 5 (Standard)
Code of the position 2 6 S m soLa
3 7 " o D
P
4 8 (LA} |
) BEL Y v Y a yoMEE, F-HEICIGHETE A, ) ERERCIE, YY) S A= Foay b= VHELTIF VA ML TR

Cannot establish the plumbing and the position of the cushion in the same aspect.

’ O@/varouE Cushion position ‘
Oy KAN— Ny RAIN—
Rod flange Cap flange
1 5
R DALE

Code of the position

2 (Z#%)
2 (Standard)

6 (1Z#)
6 (Standard)

3 7
4 8
HQODFEN L THIE(@:1-5.0:2 6) L 22 HEDA, WATETT.

L AT HYERY D LHAIL, ETRALTLZE Y,
In case of standard position for both (@ and ®) ,the code is not necessary.

W) BREE 7 vy a y oL, [W—

HIZITHETE A

Cannot establish the plumbing and the position of the cushion in the same aspect.

| @ FE2BEHEBDFIE Pressure vessel construction code |

FERZ Y A
Not apply No entry
A
7% =on
Applicable V2
) LA 2 FEE AR a% M i 3 IERE M i & IR RS s R ) 97

2.5 2 FEFE ) A 4R34 4 ah

KL CE 12 R=V % TSRV E T,

Please refer to p.13 for details.

PRV L E S

Included speed control mufflers as standard equipment.

| PR Electrical connection type
1) — Nig
Lead wire L
DIN SoTHY) N
x4 W/ indicator
DIN Z>ThHL D
connector W/o indicator
Bhka % 7 & w
Water proof

’ ® EREE Rated voltage
AC100V - 50/60Hz 1
AC110V - 50/60Hz 2
AC200V - 50/60Hz 3
AC220V - 50/60Hz 4
DC24V 5
DC48V 6
DC100V 7
#) ACLOOV - AC200V (50/60Hz) 11 Wi, 60Hz (ZBED . 2424 ACLIOV.
AC220V (ZEAASTHET Y

133



134

ANE—F1—F 4 IFYUVY

=]
==}

B

BADOMBHAELERLEDEIESFTIE

1. fe5) I (93U S RBOEE ()5 )

BDPERZ . it

DAy FEBF H) D& &,
VL /A Kl (OFF) .y v ¥
DYER by FAFAR(IN) &
70 E 9,

VL /A N (ON) T v ¥
DYA~ray FHHHHL (OUT)
LR ET,

@Oy NRIERFR) D& %,
/L /1 N (OFF) CWEA b r
Ty A5 AA (I N2 D T35

@/ L/ 1 Niif&i (ON) TEA N
Oy RAHIHLOUT) &0 9,

[2F— IV FEEHAD L X

DAy KRR (H) D& %,
VL /4K alhk(ON)
YL /AR b (OFF)
oL /A F-aiihi (OFF)
VLA F - bk (ON)
@0y KRIEREFR) D E %,
®VL /4 F-alph(ON)
YL /AR b (OFF)
VL /A F-aik (OFF)
VLA F - bk (ON)

ez rvoy FAR ON)

ezt roy FEHL (OUT)

B E¥xbrmy FHL (OUT)

exrray FELAA (N)

) ¥ — VIEEHAM YA IE. D) HOBIERES kL ) 3,
(@YD)

VL) A FOMIE L 31) v 5Ol s & 70 5 & 9293 B34, 1R
IO/ ATy WSy F U2 B52 LT Ay FHEUHE “NO”™, a7 v FHIEU
13 NC" == HZ2 XU RBLTLZE N,

Ny KAN—f - BREEFRMT (H))

\ \
0 i |V 1oL
‘ @ @ ' @ (@
(B KA - BEEFT (R))
\ \
s R
‘ I () ‘ @ @
2. BoifR - &
[ 1) S ER AR R D ACAR
DU-FEALDEE,
1 #R

Y — F#( ¢ =300m)

) — ML, T4 VX DHI300mmO e S
THIHERTOET,

) — IR A 7 &
5 SRR 228w

@DIN 3742 D) (N DE X,

7> 7 %4 (N) R

7> 7% L (D) #E8R X
AC DC

S IS @: +q
@ ®§ _@E

O/ — 7ML VS 1p 6 ~8DH A XD D% THIHL 728w,
W ECiRIER

Al H)N—1kdRA LEA L HILL 720K
Mo R Z2mTEEE OK0E)
NG HRIRD S D (KT 4 3—4)
(S PR DA NN e
LTL7Z&




BRI - 71 LA

MPG665

r—=INW% 75 Ky M7y,
Ry F 2 AN—DNEIELD %
T — FROWEEZY L. iz
FoTHIK T LOHTL R,

Chii FHaoum ko tO, @%
W58, — N+ IGELAATE
iy IRDRLERITIT TS W,
® 7 — ZAEMEAMLIE L A3, Ui

THO T—7EPc) —F
MR L T 28 v,

DINa %7 2 &ER&H

HIN—1kHFY

g |

DVEHE [T DT (I 3 —=HUT51) & kv 729 2. A=k 4+ T %

NI TS,

— 3
CER) D CAMOB a1 B R A 2 £ D T4 SR

728\,

NEZRFIHODEE
O N—EDRTED LD, N IN—
R 2 EICX ) VERS IO %
2771 (180°) WO Il H

FTHIENTEET,

QBKIARITZRXW) DEZ,
O K A1 N — DB
DALY A X —PF1 /2
ORI #1377 A b VTR
LTWETOT, Y — FfEY A4 X
130.75~3.37mm? D —7)v
B TR 2 &,

W ECHRIERE
) — FHUE A N — 708 LA
V=7 %GB L 729 2T &
AL (9 4mm), JEi% X o THl
CFEDHTLER,

Bl ) — F#iE 7 7 A b VI TIHHA
LA BED) Z, #fifgA) —
TEIPSEETIA VEID T N
TATHELAATL 7280,

wE2 -7

BRI [T (1 3= TT1) ZRAED D 2 AN —1kD A T %

R T L 728w,

S
CER T R0 0y v sk L kD SR,

NERFIEOOEE

O I, 2 )] (180°) ICZHF 5 2 LASTE 5,

O eV I
OHIIMI10Y 7 Y Fik% 47y a2 & LTHRV L E T, SAHEO
B, FA B SRR C 2250,

FE4en BET—TNHA X B
®9 ¢ 85~9.4 15a
¢ 10 ¢ 9.5~104 15b
¢ 11 ¢ 10.5~11.4 15¢

135



136

ANE—F1—F 4 IFYUVY

E®Fr7Z7veYyIU

MP665

Solenoid valve assembly

MP665 3 ) ¥ FICHEBROERKIE, ED LI s 4 TOERSIEY ) »FI2h
SHAWEZTET,

S5K—FEMAEL V) CHICEMAETLHIEICL S, BE TR ZRNEERD
ik & BT 1 YV ICBUAEIANE—O—BE LTITHML 2 & v,

| READ wnhmosar SHELoBaE. TROBREDEE RS0,

Model of solenoid valve

4A3 c-B@
G OBHAY A faie  OER
hE EE

(DFEXE  Size of solenoid S

valve

@ Film % THROLGEIE, Y Y HIUMTEREL Y b
EHELE

) B -2 Y SHORE T 2 — 7 LTI B W LE-ADT,

B S,

Operation Electrical Rated
type ?onnection voltage
ype
‘ O #HRBOESE Operation type ‘ ‘ @ ERHE Electrical connection type
‘ 1) — F#R
)a—-> SlozLE[KlI s Lead wire L
Return P DIN S2THY) N
[ \ S22 4 W/ indicator
DIN Z>THEL D
f b Sm SoLa connector W/o indicator
Ao D Bk %7 % W
‘m P ‘ Water proof

) EEAICE, YV S AE-FOay b VHELTIF VA RNV T ERAN LT
W7z L5 BRI 21 TG 2 HEOBIE, SRR,

‘ O EHWARY I X Size of solenoid valve ‘ ‘ O EIREE Rated voltage
@WH ‘/ g . 9"_:1. — TR SBAXF AC100V - 50/60Hz 1
Applicable cylinder Code AC110V - 50/60Hz 5
¢ 125 - 140 404
AC200V - 50/60Hz 3
¢ 160 ~ 250 406
AC220V - 50/60Hz 4
DC24V 5
DC48V 6
DC100V 7

BHER - BWEOEFE (Rc) —(8%8)

Port size (Solenoid valve)

OUT #— b
7y SUP #—k (P
i (P) ) 8
4A3[]404C 1/2 1/2 1/2
4A3 ] 406C 1/2 1/2 3/4

) ACL00V - AC200V (50/60Hz) @3 A Vid. 60Hz (ZBRY . Zh 24 ACL10V,
AC220V I ZAERASTTRET Yo



BT - A1 LR

MP665
Z S v
“FEER - AEEITEE
‘iﬁﬁﬂnb N
E) 1K XEDT IS DINT A7 9 OB A DO EA R LET
2. KBS ERES & Ny F A5 — BB B4 7 R LET,
BT o
75 £l
s\ LL|C|A]|A|B|Q]|Bl MM D [DD1| E | N M NN [ X1
IS ko
¢ 125(121| 60 | 35 | 32 | 36 | 30 | 12 |M26Xx15| 35 | 80 | 143|115 |M14x15| 19 | 800
¢ 140[/135| 80 | 50 | 47 | 48 | 32 | 18 |M36%1.5| 40 | 85 [160|125 |M16Xx15| 23 | 800
¢ 160[135| 80 | 50 | 47 | 48 | 32 | 18 |M36X15| 40 | 85 [176| 142 |M16X15| 23 | 800
¢ 180[145| 85 | 60 | 57 | 50 | 41 | 20 |M45x15| 50 [110|198| 155 |M20x1.5| 27 |1000
¢ 200(145| 85 | 60 | 57 | 50 | 41 | 20 |M45x15| 50 [110|220|180 |M20x15| 27 |1000
¢ 220[160| 90 | 70 | 67 | 52 | 50 | 22 |M56X1.5| 60 |120|242|190 |M27%x15| 36 |1000
¢ 250[160| 90 | 70 | 67 | 52 | 50 | 22 |M56%1.5| 60 |120|270|215 |M24x15| 30 |1000
BEM@T— b LB
[#4E] SS400
BAT mm
s
si\|WU | W | Z | |[TT|H
n_ &
¢ 125/100| 90 | 20 | 19 | 6 | 85
¢ 140[112[110| 25 | 24 | 9 |100
¢ 160/ 118(110| 25 | 24 | 9 [105
¢ 180[132|140| 30 | 28 | 13 |125
¢ 200|150 (140| 30 | 28 | 13 [ 135
¢ 220(170|170| 40 | 35 | 13 |150
¢ 250|180 (170| 40 | 35 | 13 | 160
- _—, s
Ov RAIT S VIR FA
[#15] SS400
BIfT
s
s\ V| W[ E|J|T]|uU
S
¢ 125/220(185(143| 18 | 14 | 100
¢ 140(255|212|160| 22 | 20 | 112
¢ 160(275|230(176| 22 | 20 | 118
¢ 180( 320 (265|198| 26 | 25 [ 132
¢ 200| 335(280|220| 26 | 25 | 150
¢ 220|400 |335|242| 33 | 30 | 170
¢ 250| 420 |355|270| 33 | 30 | 180

137



ANE—F1—F 4 IFYUVY

- N MP665
XFEEREAN - AETEE
Ay K75V UH FB

FB
[##5] SS400

BT :mm

©8
s\ VW[ E|J]|T]|TT
n &
¢ 125/220|185[143] 18 | 14 |100
$ 140[255|212[160| 22 | 20 [112
$ 160/ 275|230[176| 22 | 20 | 118
¢ 180|320 265|198| 26 | 25 [132
¢ 200| 335|280 | 220 | 26 | 25 [ 150
¢ 220/ 400 335|242 33 | 30 [ 170
¢ 250|420 355|270 33 | 30 | 180

— I LERR CA
CA

(##8] FCD450

B mm

5
55\ DD | D1 | R | T |RR1| K
W&

¢ 125| 25 [35.5| 65 | 20 (27.5| 37
¢ 140/31.5| 40 | 80 | 25 | 35 | 40
¢ 160/31.5| 40 | 80 | 25 | 35 | 45
¢ 180| 40 | 50 |100| 31 | 44 | 50
¢ 200| 40 | 50 [100| 31 | 44 | 50
¢ 220| 50 | 63 |125| 41 | 55 | 65
¢ 250| 50 | 63 |125| 41 | 55 | 65

—WILVEZRR CB
CB

(##8] FCD450

B mm

&5

55\[DD D1 | R [ T |RRI| Y | K
n E

¢ 125| 25 |35.5| 65 | 20 |27.5| 71 | 37
¢ 140(31.5| 40 | 80 | 25 | 35 | 80 | 40
¢ 160(31.5| 40 | 80 | 25 | 35 | 80 | 45
¢ 180| 40 | 50 |100| 31 | 44 |100| 50
¢ 200| 40 | 50 [100| 31 | 44 [100| 50
¢ 220| 50 | 63 |125| 41 | 55 |125]| 65
¢ 250| 50 | 63 |125] 41 | 55 |125]| 65

7h‘:zym
ch TC

[#48] FCD450

B mm

s e~ | R~
27\ G| P [P2] L1 [ X [XX]| r [dv v

n# S E|R &

¢ 125| 40 [160|170|33.5|31.5| 50 |2.5| 72 | 65
¢ 140| 45 (180|180|37.5/35.5| 60 |2.5| 80 | 73
¢ 160( 45 [200|200|37.5(35.5( 60 |2.5| 80 | 73

¢ 180| 50 [220]|224| 50 | 45 |60 | 3 | 86|75
¢ 200| 50 (240|250| 50 | 45 |60 | 3 |86 |75
¢ 220| 70 |270]|290| 60 | 56 | 80| 3 |105| 90
¢ 250| 70 [300({315| 60 | 56 [ 80| 3 [105| 90

138



BHEAT - 71 LA

. MP665
£BIEB }
OFFEH /N —Bff~F% CP665 T EFl— T T o127 N— S % ZBBL £ &L,
OO0y NkiwmeBE~T*E CP665 L FA—TT,172 ~186 X— U & ZBBL &L,
OHEFE/ Ny X S L HERIE. CPEB5 S ER—T T
129 R—T & TSR,
@ERITEICOVTIL, BlEBHAEE /23w,
L LpabE s CP665 £ F—T 7,
AiEH 207 [HTER (CatNo.2224) | % TS8R £ E W,
O GLES 130 "— T DCPE65 52 U > 4 ANEDERICTENERAEE

EMATLIZE W,

OEFRETv LT - BEX B kg
FOIEFE ¢ 125 ~ 250
)z—> 0.9
F—IL R 1.03

139



ANE—Fa1—F 4K IF7VUVY BFT - AU AR

140



AL v F{t

A1 LA zrovv4

Oilless enclosed cylinders

with reed switch

009

RG> ) > CPe6s BICA b o= 2 BRI D

V= FXA 9 FRIEBLIEZA 2 FIE 2T 0 5

APRRE 2B R LI ES L E L

Oilless enclosed cylinder based on CP665 with reed switch for
detecting stroke position.
This cylinder boasts high adaptability regardless of loads or
operational environment.

:/ U \J 9 ﬂ: ﬁ Specification(Cylinder)

JIS i85 JIS Symbol
= ) X

_I_I

A A4 W F L B specification (Switch)

Operation type

o WISET - A1 o F
i B = = Oilless enclosed cylinders with reed switch
Model code SP665
£ & A K B W

Double acting

Isolation resistance

2=
ﬁl\jlloidgl cod? SW-1 SW-2
) z Sk
Detecting method Proximity of iron
g T ~ ~
e ®E®E | Ac/DC5~ 115V | AC100 ~ 220V
EHEREE -~ c0mA 2 ~ 30mA
= oI =
= jgofﬁr E\ﬁting = 3w 6VA
E=RIT (52 7) %Lﬁ’lzf[ﬁ*fht?]'; K Qtl\lhﬁ';%,ﬁ.‘ﬂ 34 »& OFF BT
( :E ﬂ % :F ) Ignt when switch Is on Neon |amp ||sht up
Lamszeakage curlrt-I:Lnt) whe(q ;M/QEQI;)S o
L 20M QLLE

)

Withstand voltage

1,500V 1 7

E i =
Ambient temp.

@

-5~ 50C

r & B &

Protect construction

IEC #1% IP-65 (JIS

C 0920 Frm&i) 184

Ambient temp

& , 7 TE (Eiemaa7)
Lubricant none (Oilless)
5 - 7 A #& _
- Bore size ® 125 200
£ B E 75 -
Working pressure 0.2 1.0MPa
+1.0
) (250mmEL )
ZbhO—-7HAE 0 Under250mm
Stroke tolerances 14
o (250 ~ 1,000mm)
E X b > & E -
Piston speed = 50 500mm /s
a L B E
Thread tolerance JIs (6H. 6g)
7 v ¥ a3 r mEI7 Iy 3>
Cushion Both ends (Air cushion)
i £ 7
Proof pressure 1.5MPa
{i ﬁﬁ 511511 F.i_ _5 —~ 50°C

) 1.5CEUFC I OM &1,

AT OKSZ R L, SOV LD TEF IS,

2. EREPAMORET RIS 2 23813 B TR 228 v,

3RS A 2 LI TE I Ml A & 7)) — AHPEN SN E F O TRRh R I
D)y FE LTI o TSV, Ml CIAMAN T 2 L1272 ) 525 20tk

DFGIMEEDS LI E 2 ) T3

Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent

problems due to freezing.

2.Consult factory for non-standard applications which are not coverd by above

specifications.

3.Can be lubricated but the grease will be exhausted. Although durability is enhanced

after the lubrication, continual lubrication will be required.

& %
(P9 #B @ B% )

Internal circuit

2

i) SW-1 Ot il (2) IR L 2 W TS v,
LRSI OTEE T TR OW AL, BBV AR EE v,

141



142

NE—Fa1—F4E I T7IVVIH

i

Model code

SP665 -[1] -

0B (Fai—THE 125~ 200) ST L TR FREOBRAEETIRE 2 S0,

PAPEEL S

X

FEEHN—  oXiF&E Fa1—JTHE ZkO—% m o ed =
Dust cover Mounting Style Bore size Stroke Piston rod attachment
’ OEH/N— Dust cover‘ ’ OF1—TAR Bore size
oL N 125mm 125
UL 140mm 140
XA TL L (1EH) A
Neoprene (standard) 160mm 160
HE A-%v IR B 180mm 180
Material Conex
ST S 200mm 200
I Ty IR D
Gentex
) BB N —EOWY [ 113 =P 2 B2 S0, e 2 hO—% Stroke
Please refer to p.113 for the structure. (mmH 1 TR F&ELY,) (Please order it by a mm unit)
’ 2EZirA! Mounting style ‘ -
— ORAZPO—7 19125~ 160 _ 800mm
" Without N ¢ 180 ~ 200| 1,000mm
g A @ 7 — 7 LB e/ O—Y
Foot Min.strokes
0oy K@ 73 > 9/ EFA LFIER & AL v FHUHE ., F720EA A v FOREHE LD HIR
Rod end flange BB Y EF. L, U8 T E TBIEL
Ny FBl 75> W] g
Cap end flange T -
— 0 2 L E X W ’ (5 ) mEVANE 7 3= Piston rod attachment‘
, . . CA -
S%afsfr/d Slnglé clevis 2 8 4 B & L A
type — W7 L EXFEE > CAA Without No entry
Single clevis /joint pin v 7
- W7 r E X % CB Rod end clevis Y
Double clevis Y % ( e S + )
W7 LEXIWE SR CBA Rod end clevis /joint pin YA
Double clevis /joint pin AR YH (E > ) 2 E > £ ve
~ > = 7 D TC St?)',‘geard Rod end clevis /joint pin /split pin
Trunnion I i
— W7 LEXWET Y P2 CAD Rod end eye I
Single clevis /rolled bushing I % ( e > 1t )
— W7 LEXRWHRBT Y > a CAB Rod end eye /joint pin IA
Single clevis /lubricant bushing Y & 7 v 2 2 ft
— U7 LEXFSP Ty a CAP Rod end clevis /rolled bushing YD
Single clevis /SP bushing YFE—N—TL— k- Eft
— W7 L E X # SS400 & CAS Rod end clevis /keeper plate /joint pin YK
Single clevis /Steel YHE— =Tl —hELFYR=y TV YKG
. v LrEXEET Yy Y CBD Rod end clevis /keeper plate /joint pin /grease nipple
Tﬁﬁgj Double clevis /rolled bushing AY @Y k7Tt YM
yppe ZWIVEAF X —N—TL— hELft CBK Rod end clevis /detent angle
Double clevis /keeper plate /joint pin AHEF-N=-TU- b€ Y DT TV
ZWIVERRE-R=TU= b €Y FYRZy TIfE CBKG Ilt\ﬁﬂﬁ? Rod end clevis /keeper plate /joint pin /detent angle YKM
Double clevis /keeper plate /joint pin /grease nipple A yppllgd BNYHE-1=TU= €0 TU00 YRy T YKGM
Z 17 L E X # SS400 & CBS Rod end clevis /keeper plate foint pin /detent angle /grease nipple
Double clevis /Steel A U]
Y ¥ S S 4 0 0 & YS
N 2 = # > # SS400 &l TCS Rod clevis /steel
Trunnion /steel 1 ® & 7 v ¥ 21 ft
S = 7 4 : 1D
N2 =2 # > B (X X)) TFS Rod end eye /rolled bushing
| JTrunnlon /ftarjméle Siie‘_N /steel — — I 7 & h 7 y 5 al i B
) —BEETE VLoD ) 3. BIEOWEHIZOWTIE 160 =TV A2 B 7280, Rod end eye /lubricant bushing
Please refer to p.160 for details. I %SPJ v ¥ 21 ft P

Rod end eye /SP bushing

i) 1.YM, YKM, YKGM O¥4, v v Filighiany 79y FCHEEL T,
2. —HBECE Vb ONH Y . BIEOWHIZOWTI 1A RV E B 7ZE 0,
Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.



ALY FF - A UARS

Ay y7Fy b eEEN BEah eUyiz
Lock-nut TyialER LB DiLE
Port bushing Port position  Cushion
position construction code
®ovyFvh Lock-nut |
Oy7+y gl |
Without No entry
Hy 7%y b1 {Ef L
1 lock-nut
2 lock-nut
) 2N OBATL Ty M Y ofiER ik, LEFOREFR T,
BEPLERIE A 2 TR S,
Ty 7 Fy MIBLTIE, 176 X— Y % TSRV 3,
Please refer to p.176 for lock-nut.
’ QREEO 7 v 1ER Port bushing ‘
TyiakL A
Without No entry
Ty aft -
With

W) 7y ald 1BEEL T, fl2iE, Re3/8 775 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

27EESN
RenDFZIE

Pressure vessel

’ O REDLE Port position‘
Oy KAH/IN— Ny RAIN—
Rod flange Cap flange
1 (F%) 5 (iR#)
RS 1 (Standard) 5 (Standard)
Code of the position 2 6
3 7
4 8
i) ML 2 v Y a OB, F—HICE#ETE A

Cannot establish the plumbing and the position of the cushion in the same aspect.

’ @7y a i Cushion position‘
Oy KA/N— Ny RAIN—

Rod flange Cap flange
1 5

RErEOIE 2 (%) 6 (=)

Code of the position 2 (Standard) 6 (Standard)

3 7
4 8

HXOODREHNETHHE(Q:1-5.0:2 - 6) L 22HEDH, WARETT,
1A TOEEDN D B35613, ZTRRALTLZE N,

In case of standard position for both ® and @ ,the code is not necessary.
i) BEL 7 vy a oz, F—mIERETE A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

| DFE2BEHRIBDFIE Pressure vessel construction code

FERZ Y A
Not apply No entry
A
7%= oo
Applicable Vi

) L& 2 MEIE A a3 IR G it & BT A AR ) E 9
2.5 2 MBI ARSI LTI 12 =D % THHEEC E5,

Please refer to p.13 for details.

| U—FRZA4yF ]

feH ﬁi Liﬁ L»r/aw)
BE

firE
Rated Electrlcal

Position PrOX|m|ty
voltage connection to detect switches

type
’ ®R1 v FEREE Rated voltage
AC/DC5 ~ 115V 1
AC100 ~ 220V 2
’ ® 21 FIEEFHE Electrical connection type
Lead wire
DIN X7 % PG-9 D
DIN connector 1/2NPTFE N
’ ® X1 v FRYHHIE Position to detect
i fAl
Both ends B
Ay R
Cap end H
By K4
Rod end R
’ QX1 v FOEE Proximity switches ‘
| S W ® A

143



144

AE—F1—F AT IPVUVY

U=FAAYFOMBRL ECERLEDEETSIA

NEE
O A4 v FiE MRRIOR S NHHZ B2 TEH L2V TL S0,
U= FAA v I3, BRMER (A ) Tl TE A
U—FR2A v Fid, BEER b T v A4 EHSEEE LI TRV
WHAT BT TN TE T A

= VEIEAHET 2FEAMN () L —RERAE) L oERR.
FOVEHTOY) — FAAL v FOMFIZLRWTL 230w, Thsofl
JAGM A SN AYEIIE, RN Z % TL 728w,
BB R A 7 —ay 25712 — F AL v F 24
LA, WA 2 TR O R REE X T S, ) — F R
4 v FUSNOEMRD AL v F, RO v EE2A3 58S >~
y—ny 7 FHRERH 230,

Bk e & BREERED S 2T CIIMERI L 22 B 2 DB ) 9,
WEEOHERIIZIERE L, ANy 712X BB O BRI 3P
AN—m i HE 72 &0,

A FHUSEBOW B A2 X B3 ¥ ¥ o, TR %GR
%D EFTOTIEL KHAHT, FHp S AL v FEAHRICW 2 A)s
FAELTOROBHERL, WLMDET-> TS,

1. % i 7R

® ©O

@

(1) Bh{ERRRE |
O M EHLTAL vF s
AONEZRY, SHIZHE—)

B L A4 v FHAOFF
L% b TOHHEE NN E T, =>
| BrEoN]
0 =
BifeEs
(29 =
O LA NI LT AL vF A0

N & 7% o 727 S s ¥
ANUDBHL.OFFE %25 %
TOHEEEZ N E T, TORIC
=28 NV A | e 2R S (S )
BRI AREEE R, Hoht
GLOWEEZIRT L) 7
DTAA v FEMS ORI 155
ICTHEELZE Vv,

I

2. 24 v FRF L0FEEE N

Ol & LT, BNTIMHH 728 v & TS HOBR I 2 5%
AT COMAIEBEET 2 E 0,

O AN L BICHAE L TV AYII Tl EBIOBRNTH ) T3, M
FBRBRICIE T THE LS v,

@2 A v FITIE WAL =T EZ MR BT 23V, T2, A4 v FHLH
XTE MY WL ORI EEE L E OB IR OB L TE
LTL7ZE W,

2 4 v F % 2HULEIUFT B, HAETH% 2135720, ZhEh
20mmPL L THUFHFTL 728w,

D |

@®xrO—7 - ICRFDEX, z z
AL 9 F e RA MRV a v TREID

SEB7z0. 8y M~y Mile s | gr— E}

2 EOBMIIN T T T
Sy,

W 71 147 =V O ER %
TBILEE N,

@2 brO—7 - FERADE E,

OF ¥, YA b EHIEILMETEESETBE, YU Y FD
il LRiRD BENENAAL v F LD TLEE N,
HHEDFTAAL v FHRONE Lo, BrHEDT
TONE B 2EOPHEIZ AL v F ZHAFTTL &,

oL X FOBENIMIZ, HEOVIAA—HTHIHLTL 2
By, fEEEE T, BIfEEE X AN SLRR ) 9,

AL v F - PEEAT ORI V) YT DY R b VD
FTELWL ) THEELZS v,

[2) 21 v FRIHE
D40y FAXBRF D EE, (F2—THE: ¢ 40 ~160)

0y fuy FIZAA v F 2RI HEEIE, ¥4 0y FOE
IZAE.90° DD DML )4 A T A A v FRUS ST HE TS,

IR Ay MZSFITH L 2280,

N RFIER ,

A vy F L H A v b
PR L U AL E 1S
EWTLZE 0,

ex A v FoIHIiE, A
A F O WA A HH §
(75 v9M) Led X
) THEHEAL SV,

O H (Bw) &2 RANT
LCThrhnrbyfay
FIiZ S HBET—HDE
B L7288 CAL v F %
2 TS,

o4& H (kv MR M) | -
DY AT A1 |
FOTIZLT, Y b
RV b (S RA) & B
OERORICERE IR
TR TL 2w,

OCIDIREN T ., 24 v F
AR L IITHIAIC A
T A F & THRE O
R AT R 9 D=
OA A4 v FDOREEITINM §
LyFERMHLTEY §
bRV b EHEATTL
72 &0

O PV 713 1.2N-mPLT
ELTLZE

QN FHRBFITDE X,
(52— TP : 180, 200 D55
(3TN Y MO
B0 ET)
0N NIZTAA vF%m
P2 8461E v
VEFFa—TOMRE)
MAEEOALEIZA AL v
FHAHF AU HET T,

I N Y RIEH S %
TR 728w,

O/ N FHESEX — 7 — 4]
’oA R ML %)

OZ A v FEUTHI




ALY FF - A UARS

SP665

[3) X1 v FHBRE (X1 v FOBH) | [2) aEER

W EEIER @Dtz
eLHDEy MRV % W X |EREE/AE & AR
LYy FTEODTLES
Wy,
%r A0y FLEZFHT M AC/DC5 ~ 115V
254 KT E B IREL SWAL 5 soma
LET. (L*D*N) W
0y FLERE
T DA BB B S -
#TLEE N, AC100 ~ 220V Lo
XA Ay DDBIEHE IR | (N SW-2[] 2 ~ 30mA @éﬁ)
BEICHDI L EHEAL [l (L*D*N) 6VA ‘
TLRESW, gaE=ine

Ot DAL v FHlE

X, &y bRV K
WIFTLEE W,

WA POV 213, 12N m
DTFELTLEE N,

3. Ec#x L= =1E
[1) siEpERIRRI DECR \

DQU-FBERXKL DEZE
@ — iU, WHMTEM : ¢ 5VCTEF 2L TwEd, EXid
ImzEfEE L, ZAULEOE S 2 IHLOBIE, 10m 2 2
JABELTWETOT, TORITHRLEZZE WV,
0 — FMBIIEFIR ML 2Mb SR nE S, U — FHiC
BRSO, EALRMETIA Ty FEIZrI 7L
THLEMMLTL R,
0 — F#lA /NWN— 1N E TS v (AR KK
20 EF.) S,

@DINV4 vy FR(D.N)DEZE
0y {7 :DICIEZ I FFy F—RXPHEShTVET,
FBRZ TOFY Yy TIAXYI—FE2ITHHLEZE W,
MHEMRP T — Pl L A,
0y 47 NIZIZZrI Yy Fry MEAZHEBLTVwELA, 71
FUTNBEE - VERFEZINOTRBL T ZE 0w,
HEBMEOBMEIEL T A,

@uohory 47, ¥—IFVICEBHT 7213 ¢ 55 /MNEE
BT HEBNTLES 0,

@Dy " AN—DINEREZ DI ETEMEI LA 180°
EzobhET,

@ SW-1 O FtmE T (2) IR L 2T E v,

@SWH AT - )= FAAL vFid, EXEEEZBRLHEMIITAHE
HT& A, &0 BEASZERBH T 2551352
HEEL S, (FEaoT eI, 24 vy FHKEZMET S
BNDH Y F5,)

@ FHEEAN L B RAN BT 55513,
EALCHEAEREIT> TS v,

DHEIZF 27 L —H5E5

FR B RM %Y NFIZy 8L
F L0 MY %Y =FEH
ELEH HH5 & AR
® A4 v FEHERED T T, AWM EMICEKSERVTL S

B, (GRAKL. SUEE SRR £ 7-BETh - T EREEIT
N7ZAAL v FIIFHMERIELTLZE W,

4. % o 1t
[ 1) FRAT

@FNFT A F—F (SW-1 7 4 7 - L) O%Baix. A4 v F1E
BHREICHIT LET. CmAUTTRATLERAOTITER
7EEW,)

@ F V5 (SW2 547 - ZiEH) OEIE. A4 v FHITE
WZHET U F 9725, MR AR Tl AT L EFHADTIER
PEE W,

[2) ke - @

W24y FITFEIE LT, 2RBIER, %252 520w TL 8
Wy,

I=2Fa7)b—

HC &
RD %!

145



146

NE—Fa1—F4E I T7IVVIH

U=RRHFUFPZYEIIV SPO%S |

SWHAT - U= RSy Fi&, (ERMDEBEARIV T FTHoEVZETEROBHEERNEMEL, BIFVATLED
X AVTFVADBHE. FU Y IHBNORINEFEEE SITAAMZIALE Ui,

1. 51 ERiESRE AR DER - TBEHPEHRBTE, THIC. AR v MPERTEERR/—YOH@bZEn D, 3Tl
7 N ~ S = —d sb7w
21 v F 3. RHEE ARG E BB LICEEIET Y, BOYVZ TN SRIMABARECT
U—REP DIN VI Y FAROERPREWA D EEETT 4 RERBEFS,

28 ELELF A TORERICH. 24 v FICHBEZNE LA gy 1 TTIN S5V UV D
SEMAS (7. THAEAYA TD2 51 TEEEELET, WBICEFREL . F1—TYA X0 40~200EDEEAED
OS2 I,aY O S DAAEE LT, Fhe—F a7 YUYSICEATEET, (BL. Fa—IHHEMMETER N
UL—. IVEBHHEE DBEEBFEAE U TRASHEULET, YHHEFROY UV TICRDET.) LLE., A1y FR>IVIN
E5(C. EEEEDESICHAA v FLAETmT BUENTL . I RT. ZOSATNEMAMZRBATNEIDTYUVFLL
BSIEEIIDERNEE DD Z DB T OK TT SHBEDEEEYYELTHTERVEEITERTD,

B XUTFVANEBR. 5.4 =277 ) —INERNK,

I BECiRZENT LWL RA Y FREDITIRDTEX T, I R yFEm/ A ZECERNENNU XS ZABEL TVET,

| FeRERD Cpimtien [ 4 v FHE) TIA 4R TIA 725+ )

Model of reed switches

SW - -

AR eSEBE BERF1—THAZ

{FHEE OiEE Applicable cylinder
Rated Electrical
voltage connection
| @ EREABE Rated votage | | @ BAF1—THAR Applicable cylinder
125mm
AC/DC5 ~ 115V 1
140mm 80
160mm
AC100 ~ 220V 2
180mm 180
200mm 200
¥ 180 200 DA A FHUF I NS FHRIZAD £5,
’ A S EROES Electrical connection type (
1) — Rig=X L
Lead wire
DIN PG9 D
| CEREENE: ¢ 7)
Yy b =0
cl?cyr\llnector o 1/2NF3TF N
(97> FFy bF0Fy hEL)

AAYF - N EER

SW-[JL/ U— Kig SW-[ID/DIN V4 v b (PG9) SW-[IN/DIN V4 v b (1/2NPTF)
70
31
‘
) ‘ = !
== O B o J A
(= -]
13 13
$5VCTF(1m) = ‘ ==
(0.35gX2) —4
o 1/2NPTF /: [‘ ‘ - ] Q




ALY FF - A UARS

ETER

SP665

ZIFZELL

N-¢125 ~ 200
»Fe Loe sFie
8
4-M EE EE Q
(2mh)
¥ ¥ o MM
115 = 5 1 >
byyayrng ¥ @L T — 1 '@
o o
2 4 8 4 al @
M- . - T —+ 93
@ & - = = E
3[7 7 3
Bl
ON B A
max.17 )3 NN L(LL+R kO —%) C A
BAL :mm
= DU Sk 2{yFEtE | BT
5. TR~ | LL (o] A | Al B Q | B1 MM D |DD1 EE E F N M NN |YD|YL| Z o |7
¢ 125 121|160 | 35 | 32 | 36 | 30 | 12 M26 X 1.5 35 | 80 Rc1/2 143 | 18 | 115 M14 X1.5 19| 35 | 22 1 |30° | 800
¢ 140 |135| 80 | 50 | 47 | 48 | 32 | 18 M36 X 1.5 40 | 85 Rc1/2 160| 20 [125| M16x15 |23 |33 |20 | 1 |30°| 800
¢ 160 |135| 80 | 50 | 47 | 48 | 32 | 18 M36 X 1.5 40 | 85 Rc3/4 176 | 20 | 142 | M16x15 | 23|31 |18 | 1 |30°| 800
¢ 180 |145| 85 | 60 | 57 | 50 | 41 | 20 M45 X 1.5 50 | 110 Rc3/4 198 | 20 [ 1565 M20 x1.5 |27 | 46 | 29 | 1 0° | 1000
¢ 200 |145| 85 | 60 | 57 | 50 | 41 | 20 M45 X 1.5 50 | 110 Rc3/4 220| 20 |180| M20x15 |27 | 45| 28| 1 0° | 1000

1) ¢ 180, ¢ 200 1k N> FHUF K

147



148

NE=Fa1—-TFsREIT7VUVH
. SP665 |
-~ ~ =
AA1vFHIYUIYSY - mg/INA MO—2 |
BT D mm
it ) X YV EFa—T ¢ 140 ¢ 180
T | MHEE 24y FRALE (L) M ¢ 125 160 200
Ay RAIRRH Oy NEl&H
o Bl 55 55 55
sH o e
Qv
- T fEh o o o5
FA
FB
o S =]
0] 1l 55 55 55
y | P [ED} J:
|
i
%
E (T 125 120 125
MEII E]]
. a ~y || I 7 110 115 120
1]
L L"" S.Rmin 157 169 178
BLAAMyF
FE B A3 48 ~y |~1Eu Oy Kl 120 130 140
SX R ARt
EVINGERS _
S.R min 168 181 197
TC
n 195 205 215
o 1l [L,] S.R min 157 169 178
0] il —
B L S=R ﬁ 215 230 250
S.R min 168 181 197
Xt . ) e YV EFa—7 ¢ 140 ¢ 180
T | PRE 24y FRAHLE (L5 Wi ® 125 160 200
Ay R E Oy R{EIARH
B Bl 30 85 85
s [l
®
LB g s IE'- 30 85 85
FA
FB
CA -
D ! ElN
P lca|m M =~ | oo 30 85 85
N
v
7.
V2
L 5 [EDJ @]: 165 165 170
st
~y Kl A KA
" l /éﬁ.‘f. pram 90 145 150
| ....|- _
S.R min 138 199 208
D BLRA 7
JE B A5 18 D Ay |~1ﬂu ay Rl 150 160 170
SX IR R
EYINGE P .
S.R min 198 211 227
TC
165 265 275
L] I@I@ = .
B Bl : S.R min 138 199 208
0] 1l
8 L S=R ﬁ 275 290 310
« = S.R min 198 211 227
) LEMS - ALy FHNVT LAY 27 T MS665 (B46 X—3) DAt ROITIZTHERECZSw,
2. TC ¥ yfﬁ/fmt% E b T =AYl OMEARNA PO =2 L) T3,
[CIEADN HOWHTFM [2) Y FHRHT 7 v b ORKIZE D AL v FHETEHT L6050 50T, AL v FIEHEB LA L v FILS - Z 1%k TSR Z2E0,)



ALY FF - A UARS

HX&EIEB

SP665 |

OREEE

Oz & ER - SHTiE

OFFEH /N —BF~Fi&

®0 vy FEimeR~iE

LR EIADE S

L LAt

OHRE

Gl

D) A EBIECPE65 AT L. EX bR E F 2 — THED
EEINETH ERNBERIFE—TT,
MINR=—TUEZERIEE L,

X & BEBIICPEES I ER—T T,
121 ~126 "= T & TR 280,
ZDABDTEIENAT =T & TERZE L,

CPE65 T ERI—T 4127 X—=T & ZER 1280,

————————— CPBB5 W ER—TF,172 ~186 X— Y & ZHHL &L,

) L HERIZCPE6S S ER—T T,
129 R—=J & ZERBLLZE L,

CP665 2 L B—T ¥,
A 207 [HiliER (CatNo.2224)] & TSR 128 Ly,

130 =T MDCP611LU f4/CPEB5 52 V) » S ARIGEDEEICT
DRy FEEBEMA TS ZE L,

OXAMyF  -EBER Bt g/ fA
21y FOBE e Z2H 4 XHd@
L 100 (U —Figz&®)
SW-1 S
SW-2 85
N
| RiteEty b 30 |

149



ANE—F1—F 4R IT7IVUVS AL YF - AL UVAR

150



B« AT vFt
FA VAR 72904

Oilless enclosed cylinders with 5-port
solenoid valve and reed switch

w609

33'*
ajn

JIS Symbol

RG> > 5+ CP66S JBIZ 5 K — bR
)= FXA o FRMERLEER D) S
K1z FO—MEICEBZ A v P RFEPEET,

Oilless enclosed cylinders based on CP665 with 5-port solenoid
valve and reed switch.
Advantage of integration of each unit can be fully enjoyed.

—, -

G 4 G

==

(G347

5t %

Specification(Cylinder)

% M # ﬁ: ﬁ Specification(Solenoid valve)

EiomA - ERF. XA v F 7 X i = 4A3 [
ﬁg ;_Q ) % Oilless enclosed cylinders with 5-port Model code
Wiosil ad's solenoid valve and reed switch N 5 R h B - .
MS665 Iﬁternall et B JIS B 8375 IC & 2 MEMELLT
: 2 FARBEZE X EBECILE 10%
ﬁs Operation ?jpe S ﬁubl%jacliﬁg AIIowable?/oltage fluctuation %*ﬁ)% of appjl(l-'(l-:able voltage
A g R ~ B E L A @& 70CLL
i Lubricant i & nt()ﬁ%(:(l)/iﬁefs)’r 7) ’ Temperature rise = Max. 70 (—IF
F — R & # Al JIS B 4003 B #&
= Bore size ¢ 125 ~ 200 Insulation class Class B
H B B 7B cee eee
s Wori'iang preJ:sEsure Z 0.2 ~ 0.7MPa " Power consumption AC 6VA DC 5.5W
710 {8 (5&) B M| ¢ 125~200--- 005 BT
(250mmLLF) Response time <0

AbhO-J7FBFE

Under250mm
Stroke tolerances e
14 (250 ~ 1,000mn)
$ 125~ 140 | 50~ 500m /s A A W F LB specification (Switch)
E zX b > ii ]—';‘g-’: ¢ 160 50 ~ 400mm /s T SW-1 SW-2
Piston speed ¢ 180 50 ~ 320mm /s Model code
3 Sk AR
¢ 200 50 ~ 260mm /s Detecting method Proximity of ﬁon
L A = ®AEE®H - -
A JIS (6H. 6g) He BB Ac/DC5 ~ 115V | AC100 ~ 220V
7 v ¥ a > BEI7 7y £ F & it & 2 ~ 60mA 2 ~ 30mA
Cushion Both ends (Air cushion) = ;éat;% c;ger;; =
i £ B L AN i M 3w 6VA
Proof pressure 1.05MPa ey S = =
& B B 5~ 50C KRR (Z > 7) | RSG5 F ONB2AT ZN:(J; E\rr?;fﬁgﬂﬁf'ﬁﬂ
Ambient temp ( IE n %.E- /ﬁ ) LED light when switch is on when switch is ofFf)
1) 1.5CEFCOMMOB AR, FIOkD % RE L, BEEOR LD SR S0, Lamp(Leakage current) (1mA IF)
2. FREDAAOALART TR A2 B i, BIE SHRRC 728 v, o | H
34T L IXTE TIA T B £ 7Y — A S HEF O TR M solatin resistance " 20M QRIE
Y FE LTI o TL 28w, MMTCIHAMARTZ 21220 345, 20k
DRIMERALEL ) 5. W & E 1,500V 1 4
Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent o iExig \{oltage
problems due to freezing. E.l IE = fg 5~ 50C
2.Consult factory for non-standard applications which are not coverd by above Ambient temp. -
specifications. = s
3.Can be lubricated but the grease will be exhausted. Although durability is enhanced *k #& B & IEC 1% IP-65 (JIS C 0920 BAW&EH) 484

after the lubrication, continual lubrication will be required. Protect construction

& %
(P &6 @ B% )

Internal circuit

(&)

]

2

LRSI OEREIZT

i) SW-1 OAR@EA T (2) IR L 2T S v,
THHOBEIE JlEBRWEE S v,

151



ANE—F1—F 4 IFYUVY

i

Model code

MS665-[1] -

0B (Fai—THE 125~ 200) ST L TR FREOBRAEETIRE 2 S0,

PAPE Y. NS

X

FEHN—  oXiEEE F 21— THE PN =B Oy Reimres
Dust cover Mounting Style Bore size Stroke Piston rod attachment
’ OEH/N— Dust cover‘ ’ O@F1—THE Bore size
5L N 125mm 125
ithout 140mn 140
xATLS (BE) A
Neoprene (standard) 160mm 160
ME A-Fv IR B 180mn 180
Material Conex
T 200mm 200
VrrTv IR D
Gentex
) BHEEA N —FBOTY) H IR 113 =V AR B 7280, e ZhkO—4 Stroke
Please refer to p.113 for the structure. (mmH 4 X CHRL FFELY,) (Please order it by a mm unit)
e 2! Mounting style | ®BAZMA-7——[5125 ~ 160]  800mN
ax.strokes
¥ B 4 B i L N ¢ 180 ~200| 1,000mm
Without @B/ NZ hO—2
7 7|\ —_
& A M| FZ)t -~ B LB Min.strokes
= FE o 5 U TR E AL v FI T, F721EAA v FOREITE X ) HIBR)
¥ A < VW e V% B RN
Rod end flange FA HYFF, ML, 48 R—TVETBMLEE 0,
Ny KAl T 7 2 YW
Cap end flange FB ’ (5 YN 3=} Piston rod attachment‘
- u-l 7 l/ l: Z ﬁ? =+ =] . =
B YN Single clevis CA e %‘th ’T &L '?R"El
Standard 5 2 Lo -~ thou o entry
type - IJ.I 7L E X W E > 'ﬁ' CAA Y i
Single clevis /joint pin R e @l 7 Y
- g L B X W cB Y % ( B
. 7 - ﬁ' )
m Beibie clev;; . Rod end clevis /joint pin YA
W LEZXWE SR AT . (w1 = o 1
Double clevis /joint pin CBA St?ndeard Y ﬁéo d(erl::j c;vil-‘/rjoi)nt p;"] /s:jit [;1 i YC
N TC P I o
Trunnion Rod end eye 7 |
— I 7LvEXEET Y Yo % ER
Single clevis /rolled bushing CAD I E’R . d(en g é:ye : o - ) IA
— 7 LEXWiEHRT v a 2 S
Single clevis /lubricant bushing CAB Y ﬁ%odﬁd cgvis /ri)lledgushi_;‘\-g ff YD
—IJ-I7|/l:Zﬁ3$P7y:/:L CAP " o o o
: ; : YHFxF—iX—TL—b-Eft
m S;lgle C|8\{IS /SP;ushlng P Rod end clevis /keeper plate /joint pin YK
WP BB 2 st CAS YA —FL—hE2 IR
. . & —IN=TU—hEVTYRZy TIf
e il Cle\;%s ;Z::eel Rod end clevis /keeper plate /joint pin /grease nipple YKG
- l/leZ”?'y’/:L = 'IEHﬂ:&)ﬁ‘ l/-j'
Imy:zhia Double clevis /rolled bushin CBD AY R L H T T f: YM
A yp,lfd —LE AT 1T Iwgl:“/ﬁ' Rod en; clevis /detent ingle :
- J = CBK ANYHE-1-TV-b €V TNEHT LTI
ulfoubleﬁc;ews d I;eeper plate /joint p-/lpn m y:zfia Rod end clevis /keeper plate /joint pin /detent angle YKM
ZWIVERF-1=TV= k€ GYRZy TIVf CBKG Applied I Tk by 7T YA
. L . e P 9Ex=N=Jb=1" /'//7JL'7IJX—\}j}Lﬁ
DOUbEjleV'S I ae rjo';; Rl n'g v Rod end clevis /keeper plate /joint pin /detent angle /grease nipple YKGM
- 7 L E X # SS400 % |
Double clevis /Steel CBS Y # Rcﬁj clesvis /iteelo 0 = YS
N 2 = #4 > # SS400 &! TCS I 7 % j S
A 7 7 v ¥ 2 ﬁ'
N T;;nnlon /;Tteel( ) Rod end eye /rolled bushing ID
= = > WX Z % o T o < s
Trunnion /female screw /steel TFS I ?;Z d fﬁ d é;i/ae /|u7b i caj - bjshi;t; e 1B
) —HEECTE Vb ODH ) 3, EHEOUTIZOWTIE 160 =V E B 72 S0, , T . N 2
Please refer to p.160 for details. I ®sp7 v > 1 f IP

1562

Rod end eye /SP bushing

) 1.YM, YKM, YKGM ¥4, vy Fhingizay 75 v S TEELE T,
2. —HEECELVDOPDH D FT, BHEOTHIZOWTIE T4 R— DRSS,
Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.



B - AA v Ft - TA LU AR

Ty L’Z&Eﬁ !#ﬂiﬁ !#ﬁﬁﬂ% !ﬁ‘.ﬁ !r';f’rﬁ !Eﬁﬁ !ﬁﬁ Liﬁ

BB

U—NZA{yF

Ay7Fy b eEED J f f 21y FD
Lock-nut i (i BaDiE W& OEE i O EE B HE B 1EE
Port Cushion Pressure vessel installation Solenoid Electrical Rated voltage Rated voltage ~Electrical Position  Proximity
position position construction code position of valve valve connection type for solenoid valve  for reed switch connection type to detect switches
®OvyFvh Lock-nut| | DRARBOES Solenoid valve
Oy 77Fy &L |ETA SOL.
Without No entry ) &a—> EEIEI s
Ov o+ b1 {Ef Return A=k
1 lock-nut L ‘ ‘
Ay 7Fvy b2 ﬂEHT.f L2 SOLb SOL.a
2 lock-nut K=K IZEIEI D
) 2B OBETY Ty M D oRER S, TEFOREF T, Hold P
T AL A iR SHORC 250 [ |
Ty 7 Fy MIBLTIE, 176 X— Y % TEMREV 3,
Please refer to p.176 for lock-nut. i) %ﬁz’gﬁm;\ YU FACSFOI L FA-VHELTRE AL T E
[t VAR Do S
Included speed control mufflers as standard equipment.
’ VOEEDOME Port position‘
Oy KA/N— Ny RAIN— ’ @ EHAREE S E Electrical connection type
Rod flange Cap flange
N s )— K v
1 (e 5 (E%) L L
EREOAIE 1 (Standard) 5 (Standard) = _
Code of the position 2 6 775 N
DIN %7 4% W/ indicator
3 7 DIN connector S LTHEL D
4 8 Wr/o indicator
W) REL Y Y3 L O, AR RETE 2 A, Bﬁv?;te:lr 7;0’;9 w
Cannot establish the plumbing and the position of the cushion in the same aspect. p

’ QOrva> i Cushion position‘
Oy KA/N— Ny RAIN—
Rod flange Cap flange
1 5
ERE DA E

2 (iz%) 6 (iZ%)
2 (Standard) 6 (Standard)
3 7
4 8
QOO HENETEE(@:1-5.0:2-6) L 2 HEDH, FEARETT,
1 AP COEEN D 5981, &2 TRRALTLES W,
In case of standard position for both () and ®) ,the code is not necessary.
) BELZ v Y a yoMEE, F-mICIGHETE A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

Code of the position

| @FE2BEHEBDTIE  Pressure vessel construction code)|

FERZ S m fBECA
Not apply No entry
S AT
AX =]=}
Applicable Vi

i) LA 2 MR a3 IR i & B B S R ) $ 5
245 2MEIE RS LMICE LT 12 =D % TS 5,
Please refer to p.13 for details.

| O ERABHIE installation position of valve
Ny RHIN—1 H
Cap end
(m I\ﬁ/\_'ﬁ“ R
Rod end

| ®EWREREE

AC100V - 50/60Hz
AC110V - 50/60Hz
AC200V - 50/60Hz
AC220V - 50/60Hz
DC24V
DC48V

DC100V 7

i) ACI00V - AC200V (50/60Hz) @14 )ik, 60Hz 2BV, #1241 ACLI0V,
AC220V (ZEFAASHET Y

Rated voltage for solenoid valve

OB |WIN| =

| @ ~ ®ovci. rEcEBLTELFT.

1563



154

ANE—F1—F 4 IFYUVY

’ QX1 v FERERE Rated voltage for reed switch
AC/DC5 ~ 115V 1
AC100 ~ 220V 2

(® 21 v FREES &

Electrical connection type

1) — F#RzK

Lead wire L
DINIX %% PG-9 D
DIN connector 1/2NPTE N

@ 21 v FRUHEE

Switch position detect

[l 1Al
Both ends B
Ay KA
Cap end H
a0y K
Rod end R
’ ® X1y FOIEE Proximity switches ‘
| S W A |




B - AA v Ft - TA LU AR

5 o % B ——
4 /.
ZHEERL N
N-¢125 ~ 200
O T DDERRFT E (BHFA)
DINa%x%% (D-N) BhRKaIR U2 (W)
BAGT : mm
75 24y FEFE | BT
S LL C A Al B Q B1 MM D DD1 = F N M YD YL ) ;'S &
¢ 125 121 60 35 32 36 30 12 M26 X 1.5 35 80 143 18 115 M14 xX1.5 35 22 30° 800
¢ 140 135 80 50 47 48 32 18 M36 X 1.5 40 85 160 20 125 M16 X 1.5 33 20 30° 800
¢ 160 135 80 50 47 48 32 18 M36 X 1.5 40 85 176 20 142 M16 X 1.5 31 18 30° 800
¢ 180 145 85 60 57 50 41 20 M45 x 1.5 50 110 198 20 155 M20 X 1.5 46 29 0° 1000
¢ 200 145 85 60 57 50 41 20 M45 X 1.5 50 110 | 220 20 180 M20 X 1.5 45 28 0° 1000

1565



156

NE—Fa1—F4E I T7IVVIH

HX&EI8 B

O RER#E:

MS665 |

=3
=

OEREHFORBAELERALOIEEE —

OEFEHAT7 vt TV (FEFE —

OV -R21yFORETEELFRLEOEEER —

Q-R2149vFT7vErTY FEEER —

Oz & RH - STiE

OFSEHN—B{3~Fi&

OO0y FEmeR~TE

) AERIZCPEEE A L. EX MBIk E F 2 — THMED
EREINETH EAESIIR—TT,
11ON—T % TSR AL,

MP665 Ft; (BHFAT) 134 ~135 =T & TSR 280,

04

1836 XN—2 & IR LE L,

(y

SPE65 T (XA v F)—144 ~145 ~"— T % THBBLE &L,

146 "= & B2 W

X2 BEERIICPEE5 2 ER— T4,
121 ~126 "—2 & TR 280,
AEEBDTEIRABE X=T & ZSRBLEE L,

CP665 fiZ ER—T T,
127 "= & ZERBLZE W,

CPEBS S ER—T 9,172 ~186 X—Y & TR 281,

OEFE/NYy X 1) > 4 ERIECP665 T ER—T 1,
129 R— T & ZBBLEE L,
[ =aE= CP665 HER—T7,
A 4207 [HlTER (CatNo.2224) | %2 TSR 2 &,
OHREE 130 N— Y DCPBB5 ¥ 1) > 4 AHDERICFER M
TLFEE W,
BHAT7 T - BEBX Bt kg O yvF - -BEX Hf g/ fA
pomm e ¢ 125~ 200 - i BY A KA
g —> 0.9 St L 100 (U —Kigz&E)
R—IL R 1.03 SW-2 D 85
N
| MFEE+y b | 30




B - AA v Ft - TA LU AR

1567



	2222-2_230322
	111_
	115_
	131_

	2222_141_151
	2222-2_230322
	2222_999



